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� ��� ���#$����� �
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��� &�� ���� ��� ��

������
� ����������� ���������= ��� ����
	 ������
��) �� �������
� ��
���1

�
� ��� ���-�* ��� ��� ���������� ���� �� ������ ������� ���� ��
��	
���

��� �	
��� ��� ������!
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� �� #��������
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�� ��� ��� 
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����� ��

����� ��� 
����
��� 
���
� ����! 9� ��������
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#������ ���� 78��� A ⊆ R
n) B ⊆ R

m ��� ���� h : A → B 
�� ���$�����!

� h �������� 	
	�	
	����
�� �� ����� ���� ��) '�' ��� � �� ���� � ��������#�

���$�����! "	��) ��
� 	�� �� A, B ����� 	
	�	
	�����! 9� ��$� �� �
���
���

#��
	� h : R
n → R

n �!�! h(A) = B �� ��$#��
� h : (Rn, A) → (Rn, B)!

#������ ���� 78��� ��
�	� K ����� � �
#������ ��� ������ S1 ����  ���

R
3! -� ��� 	�� �
� ��!�� ������
� ��� ���	�� ��� ������ S1 ���� R

3 
���

��	� �
���
��#��
�� h : (R3, S1) → (R3, K)!

& �
� '!'= 6�������
��� �	
���

78��� ����	� L 
� n �!����"��� Li ����� � �
#������ n �� ������ ������

S1 ����  ��� R
3! &�
�����$ ��$#��
� L = L1 ∪ . . . ∪ Ln!

& �
� '!/= 6�������
��� ������

&�� �
�� ��  ����
������
� ��� ������� ��� 	�� �	
�� ��
������
�$����

��� ��� ��� ������ ��� ������! 7+��� ��$� �� �����	���� ��� ���� � 	���

����������
� ��������
��� �� ����� �#����� 
	�� �	
���� � 
	�� �������

�� �� �����
�����
�!

9�	 ��� ����
	 ��	� �	
��� ��������� 	�� �� �	
��� �*���� ���� ����� ���

���$����! 2�� �� 
����� ���� 	
�� ����� �����	 ��  ����
������
� ��� �$����

������� ���� �� ��� �������! 6�����
���� �� 
�� ��$�
�� ��� ��� ��� ���
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���� ������� �� 	�� �� ��
��� ��� �	
��� �� ������ �� ����$��

& �
� '!4= 9�������
���� ������$����

������ �$�� �� ������� ��� �������� �������� 1������ �� �������� ��� �#���
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���� ��� ��#���*����� ���� �� ��
���;)

/! <�� ������ �����$�� ��	 ��� ���#������$ ��
��� ��� �	
��� �� ����$��

������ �� ��� ��� 
������	 ��
��� ��� ��������)

4! <�� ���#������$ ��
��� ��� �	
��� 
������ �� ���������� ��� ���� ��
���

��� �������� 
	�� �$� �� �������� ��� ��� �#���	
���� ��� ��
�������)

@! "� ������ ��� ��
���� #����� ����� 1�����
�(��� ��� ����� ����$�������

��� ��� 
	�� ��
��� ����� �������
���!

2�� ���$����
�) �� ��� ������$���� ��� #�������� ��� & �
� '!4 ���

������������!
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$*���� #�����
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����� �� ������ ���$����� ������� �������� ��	�

�	
��� ���� ���� �� �������������� �� �������� '�@! 78���) �� �� �� ��	
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<�� �	
��� K ��� K ′ ���������� �����) �� 
����� �� �����.�� � ���� ��	

��� $���� 
��� 
��� ���� ��� ����
	�#���� ���  ����! "������ �	
��� ��

�������� ��	�	���	�!

#������ ���� 78��� A, B ⊆ R
3 ��� h : A → B) g : A → B �
���
��#��
��!

+� h ��� g �������� ��	�	���	� �� ��$� �� ���� �� ���$����� F : A× I → B)

I = [0, 1] �!�! ��� �$�� t ∈ I � ���$����� F (x, t) �� ����� ���� �
���
��#���


	�) F (x, 0) = h(x) ��� F (x, 1) = g(x)! � ���$����� F ���
$*���� ��	�	���!

#������ ���� <�� �	
��� K ��� K ′ �� ���
$*����� ��	�	���	�) �� ��$� ��

�������� F (x, t) : R
3 × I → R

3 �!�! F (K, 0) = K ��� F (K, 1) = K ′!

&�
����*��
� K ∼ K ′!

9� � ���$
����� t ���������$ ���  �	�� ��	 �� 
���� ��� ���) 
�����
�

�� ������#���
� ��� �������� �	
��� �� ��� ���� � ����
	�#��� ����  ���

���� ��	 ��� ���� �	
�� �� �����.�� � ��������) 	��� ���#���
� ����
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����! &�� �
�� �� �����*��
� ��� ������ ��� ����
	�#���� 
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����� ������ ��� ���������!

#������ ���� $������� ��	�	���� �����#	! �� ���
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	�� �� ��������

��� 
��#�� ��� & �
���� '!@!

& �
� '!@= �������� ��������� ��������

+� �������� ����� � ��� ��  ������������	 	�� ��������� �� ��$� ����
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��� ������������ ��� �������� ��� ��
�������� ������ ����������!
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�
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�
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78��� ��� �	
��� K1) K2! �� ������
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� ��� ������ ��� �	
���!

#������ ��	� '!�#����� ���	��
� ��� K1 ��� K2 ���
$*��
� ��� �	
�� K)
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�! K = K1�K2) � ������ ��
���������� �#�������� ��� 
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� ��	

������� ��� ��������� �� ������� ��
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� ��� ��� �	
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6��C�������
� ���7 �� $� 	�� �� K1 ��� K2 ��� ���*����� ��	 ��� 
�$���

����  ���! "� ��� �	
� �#��������� ��	 
�� ����� � ��� �
������	 ���

������

$���) � ����� ��� ������
�$��� ��
�� �����������! "� ��� ��� �	
�

��� ������ �� ��������������� 
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� �$���� �
�
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���!

& �
� '!3= 9������
���� ������������� ��� ��������	 $�����
�

����������� ��$
� � ��� ������ ��� 1��$���� ���������; �	
��� �����

���������������) ����
��������� 1�� �	
��� K1�K2 ��� K2�K1 ����� ����������;

��� ��$� �� �� �������� ���� ��� 1� �����

���� �	
���;! <�� ��$� �� 	
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�������� ���� ���!

#������ ��
� 78��� �	
��� ���
$*���� � ����	�) �� 
����� �� ��#������

�� �� ��������	 $�����
� ��� �	
���) ������� ��	 ���� ������� ��� ����� �

�����

����! &��� �������� ��������� �� ������� ��"�	� ����
��!

�� ���������
� ���� �$������ �������� ����
��� ��	 ��� ������ �	
��

��) ���� ������� ��  ����
��������
� ��� ���� ���!

#������ ����� 78��� ��	�����	���
�� �� ��� ��$���

� �	
��� ���*���� �

������� 
��� ���������� 
� ��� ����� �����
���� �$�� ��� ��$���

�! &���

��������� ���� ��
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��� ����� ��	�����	���
��	�!
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�	! 
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� �	!
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��� K ��� ��� ��$���

$ ���! 8�����
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�� K ��� ����*��
� ���$ 
���� ��� K ��
�
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��� ����� #��$) �� ������
� ��	 �$�� ��� ���$*��
�) ��� �� ������
� ��	

�$�� ��� �#����
� �� � ��! 7+��� �� �������.��
� ��� ��
��� ��������� ��

� ��
� ��� ��$���

�) �� ����� �� ����� ��������	 ��� ������
����! �

#������ ����� 78��� ������������
���� �	
��� K ���
$*���� ��������&�
	�

������������) 	��� ��$� �� �������� ��� ��������*�� ��� K ���� ����	 ���


� �������� 	
�� ������������
	! + �	
��� K ′ ��� ��������� ���
$*����

�������	�	� ��� K!

#������ ����� 78��� ������ ���
$*���� #��������
	� ������������) �� �����

��������	� 
� 
�� ����� ������ �� ������ �� ����� ����� �� 
���� 
���
� ����

�#����� ���� ������$�����  ��� 1� �� 
���� ����� �� ��� �������� ��������;!

#������ ����� � ���	������ ������ �
���	� �
�
�� K� ��	� �	
��� K

��������� 
� ������ 	��� ��� ������������� �� ��� ��$���

$ ���! 78�

��� �	
��� � ������ ����� ��������	� 
� ��� ���������� ��� ���	�� ���
$*����
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�������� ���������!
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� ���� "�������� ����� 	�� �$�� �
���
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	�

h : R
3 → R

3 ����� ��������	� 
� ��� ��������� � ��� ���������� 1�
5
��
���

�����	����! +��*��
� ���� ��� ������ ������ �
���
��#��
��!

#������ ����� 78��� h : R
3 → R

3 �
���
��#��
	�! 9� � h ����� ��������	�


� ��� ��������� �����	����) �	�� � h ��
� 	�� �������� ��� �������������


	 ���  ����) ��� �� ����� ��������	� ��� ����������� �����	����� ��
� 	��

��������#�� ��� ������������
	 ���  ����!

���������� -�����
� ���� �� ���������������
� ��� ����
	 ��� �
�

#� ���� �	
���= 78��� �	
��� K �� ���
$*���� �
��������) �� ��$� �� ��


���
��#��
	� h : (R3, K) → (R3, K) ��� ��������#�� ��� ������������
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� ��	� �	
���!

& �
� '!(= +� ��� ����� ����1���


#������ ����� <�� �	
��� K ��� K ′ ���
$*����� ���������������� �� � ����

��������� ��	 ��� $���� 
��� �������� ��������� ��� ������� ����$���

�������������) 	��� ��� & �
� '!(! � ������ ���� ��� ��$���

� ��	�

�	
��� ���
$*���� ���� 
	���

&	�'(����	 � +� �	
��� ��
��
� ��� 6(��
1

(�� ����� 7���1
2�
���
��� 	���

��� ���
� ��� & �
� '!'0 !

& �
� '!'0= ����1
2�
���
�� �	
���

%���	 ����� )*��� ��� ��(	 ��
�	! ����� ���� ��� # 	 ���� ��(� 
� �������	
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�� �����
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���( �	!�+


��
���� � ��	���
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& �
� '!''= 9�	���
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&��� ���$���#� ���� �� ������
� ��� ������ ��� ����������� �	
���) �����

��� 
�� ���������� ������) ��� ����
	 ������
��!

#������ ���	� -�� ���$����� B= {�	
���} → L) 	��� �� ������ L 
�����

�� ����������� ��	 ��
����) ����
���) �������
� ���) ������� �����	����

��
��� �� �� ���=

K1 ∼ K2 ⇒ I(K1) = I(K2)

������ �� � ��
� ��� I ����� ���� ��� ����������� �	
����!

����������-�� ���������� �	
��� ����� ���$ ����
��� �� ��$���� ����

������ �	
���!

#������ ���
� -�� ���������� �	
��� �� ���
$*���� ������ �����	����

�� �������� �� ��� K1 � K2 ⇒ I(K1) �= I(K2)!

2�� �� ���
��
� 	�� 
�� ���$����� ����� ���������� ��������� ����� ��

���
��
� 	�� � ��
� ��� ��� ���$*�� 	��� �������
� �� ��� ��$���

� �	
���

���� ����� ������ �������� �

�
�

��
��

�� ���$���
� ���� 
�� ���������� ��� ������ ��� ������!

#������ ����� 78��� ���� ������ L ��� ���� ��� ���������� ��� Li, Lj !

8�������
� ���� ������������
	 �� �$�� 
�� ��������� ��� L! &� �$��



����


�� �� ��������
 
��� ��	 ������
 ������	 '0

����������� 
���
� ���#�������� ���������� ��� ������ �������� ��
� ���

����
	 1�
(�� +1 � −1 ��$���� 
� ��� ���	�� ��� �����$

���� �� 
�� 
����

����� � ���� ��	 ��� �����������) 	��� #������� ��� & �
� '!'/!

& �
� '!'/= 6�	��
� �������������

+ ����
�� �!����(�� �������
 ��
���� ��� Li, Lj ���*���� ��=

lk(Li, Lj) = (1/2)Σsign(Li, Lj) 1'!/';

	��� � $������ ������� �$�� �� 	��� ��� ������������� 
���
� ��� ����������

Li ��� Lj ��� �����$

����!

���������� 9� 
� ����
����� �$������ ������������
��� ��� Li, Lj �

��
� ��� ����
�� ������
�� ����� lk) �	�� ���$*����� ��� ������������
	 ���


��� ��	 ��� ��� ����������) � ����
	� ������
�� ������� −lk! � ��	����

��
� 	
�� ��� ����
�� ������
�� ����� ���
$����� ��	 ��� ������������
	

��� ����������!

&���	�� �)��) * ����
�� �!����(�� ���� ����	! lk(Li, Lj) ����� �����	����

��	�	���� �	! ����	! L, ��� ���� -� �	� �!������"� Li, Lj %


��
���� 78��� ���� ������ L ��� ���� ��� ���������� ��� L1) L2! ��

�
��$���
� ��� �������� �$�� ������� �

�
�

��
� ���� ��
� ��� ����
��

������
�� �$�� �� ��� ��$���

� ��� L!

• � ������ �

�
�

��
� 8 ��
������� � �
����#�� 
�� ����������� 
���
�


��� ���������� ��� ������ ��� ��� ������ ���! 79�� � ��
� ��� ����
��

������
�� ��� ���$*��!
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�� �� ��������
 
��� ��	 ������
 ������	 ''

• 78��� ���� 	�� �������
� 
�� ������ �

�
�

��
� 88 ��� ���� 	�� ��

 ��
� �����
�� ������������
��� ��� ���������� ��� ������) 	��� ��� & ��


� '!'4! 1>�������
� 	�� �� ��� �	
� �������� ��� �� ���#�������� ���������

��) ������ � ����
	� ������
�� ��� 
����$������!; � 
�� ��� ����������� ��

& �
� '!'4= ������ �

�
�

��
� 88 ��� ����
	� ������
��

������#���� +1 ��� $�����
� ��� � $��� ����������� −1 ) ��	�� � ����
	�

������
�� ��� �� 
���������!

• "����) �� �#��
	���
� 
�� ������ �

�
�

��
� 888� 
���
� �	
�� ����$ ���

��� ��� ���#�������� ����������) ��� � ����� �����
�� ������������
��� ���

�$�� ���������) ���������
� 	�� �� ������ ��� ±1 ��� ���$*��! 79�� ���

�$��) � ����
	� ������
�� ����
���� ������	�!

& �
� '!'@= ������ �

�
�

��
� 888 ��� ����
	� ������
��

1<�� �� �
��$���
� ��� ����������� ��� ���������� ���$*����� ����

������������
��� �� �$�� ��������� � ���� ������ ������������� ���$

��� �������� ��� �������� �

�
�

��
�� ����� ����
�����*����� 
� 	
���

��	��!; �



����


�� �� ��������
 
��� ��	 ������
 ������	 '/

��! �	 ���"��"�	 ��������� �	� 	
����

&��� ���$���#� ���� �� �������$���
� �� �������
� ��
����
� ��� ���1

-�*� �� ����� ��������� �� ��	����� ����������� ������ ��	 ��� ����
	

������
��!

�� &� *$
*�� �
�������

�� �����
� 
�� �����
� �������#� ��� �������
�� ��
����
� ��	� �	
���

	��� �������� ��	 ���  � /� ��
����
� �� '(/:!

6�����
���� �� ����������
� �� �	�!"�!
	 ��������� ��	� �	
��� K


����$
� ��	 ��� ������������
��� ��$���

$ ��� ��� ����
��
� ��� ��������

������! �� ��
���������
� ���� ������) � ������ � ���*���� 
� �� ��$���

�!

&� �$�� ����������� ���������
� ��� ������� ��� �������$ ��� �$��

�	
�� ��� ������������) 
�� ��� �$�� 
���� ��� 
�� ��� �$�� 
���� ���

������������! �$�� ����������� ��������� 	�� � �� �� 
��#� ��� & �
����

'!'A ��� ��
����*��
� ��� �������� ����� �� �� ������ ��
����������� ����

��	 ��� i− ����������� �� {Ai, Bi, Ci, Di}!

& �
� '!'A= xAi − xBi + Ci − Di = 0

"� ��
���� ���$ ������������� 
� #��$ �������� ��� ������� ��� �����

���� ���� ��	 ��� �����������) 
��������� ��	 ��� ������ ��� ��������� ���

�$�� 
����! &�� Ai, Bi, Ci, Di �������� ��
� ���� ����������� x,−x, 1,−1

1D�! & �
� '!'A;! �$�� i− ����������� ��� �����$

���� �� ����� 
��

�
����� ��� 
��#��=

xAi − xBi + Ci − Di = 0.



����


�� �� ��������
 
��� ��	 ������
 ������	 '4

+��*��
� ���� ������ MK ��� ������ �� ���

�� �������� ��� ���� �����

��������� ��� �����$

���� ��� �� ������ ���� ����� �� ���! +� �����������

��� �
������ ������������� ���� ������ MK ��� ���

� ��� �������� �� ����

�� �	�� �����������) ��� ���� ���� �� ����������� �$�� ����� �� �� ��������

��� �$�� ��	 ��� �������� � �����! �� ��
����*��
� 
� MK(R, R′) ��� �����

�� ��� ��������� ��	 ��� MK �����$#����� ��� ������ ��� �������� ��� ��

���������� ����� �� R ��� R′!

#������ ����� "� �	�!"�!
	 ��������� ��� �	
��� K ���*���� ��=

ΔK(x)
.
= det(MK [R, R′]). 1'!/@;

+ ��
�����
	� A
.
= B ��
����� 	�� A = ±xnB) ��� �$���� n ∈ Z!

��$���	 ����� �������������� � �	 �	�!"�!
	 ΔK(x) ���� ��
�	! K �	

	�	�	 !�	�	��-���� ��� ��� ��	�����	���
��	 #�����

� �	! 
� �	� ����	 �	!

����������� ��������, ����� ���� 	���
��	, ���(�����	 ��� ��� ����	�� ���

����	���"� ����	�"� R ��� R′ ��� ��	����� �����	���� ��	�	����, ��	 ���
�
.
=%

6���������
� ��� ��	���
� ��� �����
���� ��
����
��

&	�'(����	 � 6�����
���� �� ����� ��������	� � ��������
	� ��� ��������


�� ��
����
� �� ����������
� �� �������
� ΔK(x)) 	��� K � �	
��� ��
1

��
��

&�� & �
� '!'5 ������
� ��� ��$���

� ��� ��
��
�� ��� ����� �� ��� �����$
�


����) ��� ������ MK(x) ��� ��� ������ MK(A, B) � ������ ��������� 
�

������#� ��� ������ ��� �������� ��� ���� ����� �� 9) D! >������*�����

��� det MK(A, B)) �������
� 	��= Δtrefoil(x)
.
= x2 − x + 1!



����


�� �� ��������
 
��� ��	 ������
 ������	 '@

& �
� '!'5= >�������
	� ��� �������
�� ��
����
� ��� ��� ��
��
�

�� 
� *$
*�� ������

�� �������$���
� ���� �� �������
� ���-�* 1� ���-�*1��
����
�� ��	�

�	
��� �) ��
�! ∇K(z)) �� ����� � ���*���� 
� �� �������
� ΔK(x) ��� 
�

����� �� ����������� ��������� 1 ���� ��� ��������
	 ���$��� ��� ���*�����;

��	 �� ��$���

� ��	� �	
���) 
� ��  ���� ����� �
��
$���!

+,�$�	�	 ��* 
� *�
-��* ������

'! &� �$�� ������������
��� �	
�� �������� ��
� ��� �������
� ∇K(z))

�!�! ���������� �	
��� �� � ��� ����	��
� �������
�!

/! 9� � ����� � �����

���� �	
���) �	�� ∇K(z) = 1!

4! 78��� ����� �	
��� K+) K− ��� K �� ������ �����*����� ���	� 
��� ����� ��

���� ����� � ��� �� 
��#� ��� & �
���� '!'3 ! "	�� �� �������
$ ����

���������� 
��� ��� � ���� �.

�9

∇K+ −∇K− = z∇K .

& �
� '!'3= & ��� �.

� ��� �� �������
� ���-�*

� �������$����� 
��� ������������ ��� ��$���

� ��	� �	
��� 
� ��� �	
�

�� ����� ��� ��������������� 1	��� ��� & �
� '!'3; ���
$*����

�(	
��!��� ��
		����
�!



����


�� �� ��������
 
��� ��	 ������
 ������	 'A

%���	 ����� ).��� L #��������
	� ����	� 
� n �!����"���% ����, ��� ��

∇L = 0%


��
���� 9�	 ��	���� ��$� ��� ������ L1) L2 �!�! � L = L1 ∪ L2 ��

� �� ��$���

� 	��� #������� ��� & �
� '!':!

& �
� '!':= <�� �����
�� ������ ���$ ��� �
�
$�����

8#��
	*����� �� � ��� �.

� ��� ��$���

� ��� L ���������� �� �	
���

1
� 
�� ���������; K+ ��� K−! 9���� �� �	
��� ����� ����������) �#�� �

���� ��������� ��	 ��� $���� 
� 
�� ����#� ���  ��� ���$ 2π! ,	�� ���

�
��
���� ' �� �� ��� ∇K+ = ∇K− ��� ��	 ��� � ��� �.

� � ��
�=

z∇L = ∇K+ −∇K− = 0) ������ ∇L = 0! �

%���	 ����� $��� ��
�	� ���� 
�� ���	� ������, � 
���� 
� �� �����

������ �� �����

��	!� ��
�	!� ��� ����	!�% )/��, �	 �	�!"�!
	 !	�"�#


�	��� �� !�	�	������ ��������� ��� �� �(�"
���%


��
���� � ��	���
� �� ����� 
� ������� ���� ����
	 ��� ��������

������ n! 78��� �	
��� K 
� n = 1! "	�� � �	
��� ���	� ����� � �����

����

��� ��	 �� �
��
� /) ∇K = 1!

78��� ���� 	�� �$�� �	
��� 
� n ������������� � �� 
�� ���������� ��

�����

����� �	
����) ��� ���� K �	
��� 
� n + 1 �������������! 79��

�� ,�

� '!'') �����*��
� 	�� ��$� �� �������
���� ����
	� ������� �����

��������� �� ������ 
���������� ��� K ���� �����

���! 79��) ��$� �� 
��

��������� �	
��� K = K, K1, . . . , Kn �!�! � �	
��� Ki+1 �� ��������� ��	

��� Ki 
� ������ ��� i− ������������ ��� � Kn �� ����� � �����

���� �	
�



����


�� �� ��������
 
��� ��	 ������
 ������	 '5

���! 8#��
	*����� ����� ��$ ��� � ��� �.

� � ��
�=

∇K = ∇K1 ± z∇K1′

∇K1 = ∇K2 ± z∇K2′

!!!

∇Kn−1 = ∇Kn ± z∇Kn′

	��� � Ki′ ��������� ��	 ��� Ki−1 ��� ��� Ki 
� �
�
$����� ��� i− ������������!

78 ��
� ���� 
�� ���������� ��� K ����� �	
���� Ki ��� Ki′ ��� i, i′ =

1, . . . , n! 8����� �� �	
��� Ki′ � ��� 
�� ���	���� ����������� ��	 ��� K)

��	 ��� ��������� ��	����) ��$� �� ���������� ���� �� �����

����� �	
�

����) $�� ��$� �� ��� ���������� ��� K! �

��$���	 ���	� �� �	�!"�!
� !	�"�# ��� ��������� ��� ���� ��
�	 $

�!�#�	���� 
��� ��� ������

∇K(x − x−1)
.
= Δ(x2) 1'!/(;

� ��	���
� ��� �����
���� '!/: ������������!

&	�'(����	 � >������*����� �� �������
� ���-�* ��� ��� �	
�� ��
��
�

��
#��� 
� �� �
��
��� ��� �������
�� ���-�* ��������� ∇trefoil(x) =

1 + x2! &�� 6��$����
� / �� �
� ���������� Δtrefoil(x)
.
= x2 − x + 1 ��	��

������������ � � ��� 1'!/(;=

Δtrefoil(x
2) = x2 · ∇trefoil(x − x−1) = x4 − x2 + 1!

&���	�� �)�.) 0% 1�� �� ∇K1�K2 = ∇K1 · ∇K2 %

2% 1�� �� ∇K ′ = ∇K , ��	! K ′ 	 �������	�	� �	! K%



����


�� �� ��������
 
��� ��	 ������
 ������	 '3

& �
� '!'(= 8#��
��� ��� � ���� �.

� �� 
�� ����������� ��� ��
��
�

3% 1�� �� ∇K�(z) = ∇K(−z), ��	! K� � ���	������ ������ �	! K%

4% ).��� L ����	� 
� n �!����"���% ���� ∇L(−z) = (−1)n+1∇L(z)% )/��,

∇L� = (−1)n+1∇L%

�� �������.��
� ��� ��	���
� ��� 6�	����� '!40) ����� ����� 	
��� 
�

��� ��	���
� ��� ,�

���� '!/3!

���������� 9�	 �� @ ��� 6�	����� '!40) ��������� 	�� �$�� ������ 
�

$���� ����
	 ���������� ��� 
� 
������	 �������
� ���-�* ��� 
����� ��

����� �
#� �����!

����� �� ���	
�
�	�
 	�� ���������� ������ ��� �

��������	� ��	

78��� �	
��� K 
� �������
� ∇K(z) = a0(K) + a1(K)z + . . . + an(K)zn!

+� ����������� a0(K), . . . , an(K) ���������) ���#����) ����������� ����

������! �� ��
����*��
� 
� SiK ��� �	
�� ��� ��������� 
� ������ ���

i−������������ ��� K) EiK ��� �	
�� ��� ��������� 
� �
�
$����� ��� ���

IiK �� ��	��
� ��� i− ������������ ��
#��� 
� �� & �
� '!'/!

&�����	 ����� 5����
	�	�"���� �	!� �!
�	���
	 � �	! ������
�, � �����

����� �����-���� ��+

∇K −∇SiK = IiK · z∇EiK 1'!4/;



����


�� �� ��������
 
��� ��	 ������
 ������	 ':

	���� 	� �!��������� �	! �	�!�� 
	! �� ����	�	�	 � ��� �������

an+1(K) − an−1(SiK) = IiK · an(EiK). 1'!44;

�� ��� ������
� ���� ���� ��	���
� ����� ��������
$���) ��� �#�����

���� ����������� ��� �������
�� ���-�*�

%���	 ����� ��� �	� �!�������� a0 �	! �	�!�� 
	! !	�"�# ��� ��+

a0(K) =

⎧⎨
⎩

1 �� 	 $ ���� 
�� �!����"��,

0 �� ���� ���� ���������


��
���� &�$�� &���
����= 78��� 	�� � K � �� 
�� ��������� ���

��������� ���� �����

��� �	
�� 
� ��� ������ m �� ������ �������������!

"	�� �� ���=

a0(K) = a0(SiK) = . . . = a0(Sm . . . S1K) = a0(O) = 1,

�#�� � ������	� 	��� a0(K) ��� �������
�� ��� K ��
������ �$�� #��$


� �� ������	 	�� ��� �������
�� ��� �	
��� ��� ��������� 
� ������


��� ������������ ��� ��$���

� ��� K ��� ∇O = 1) 	��� O ������� ���

�����

��� �	
��!

/�-���� &���
����= 78��� 	�� � K � �� n �� ������ ����������

��� ���� m � ����
	� ��� ������������� ��� ������ �� ���$
��
� ��� ��

������
��
� �� ���� ��� �����
� �����! "	��) 	��� ��� ���� ����� ���������)

� ��
�=

a0(K) = a0(SiK) = . . . = a0(Sm . . . S1K) = 0,

�#�� ∇L = 0 ��� �$�� ��� �����
� ����� L! �

%���	 ����� ��� �	� �!�������� a1 ��� ��+

a1(K) =

⎧⎨
⎩

lk(K) �� 	 $ ���� # 	 �!����"���,

0 �� ���� ���� ���������%



����


�� �� ��������
 
��� ��	 ������
 ������	 '(


��
���� &�$�� &���
����= 78��� ������ K 
� ��� ���������� K1

��� K2!

• 9� � K ����� ��� �����
��) �	�� ∇K = 0) ��	�� a1(K) = 0 = lk(K)!

• 78��� 	�� � K ��� ����� ��� �����
��) ���� n �� ������ ��� �������������

���) ��� ���� m ≤ n � ����
	� ��� ������������� 
���
� ��� ��� �������

���� ��� ������ ������ �� ���$
��
� ��� �� ������
��
� �� ���� ��� �����
�

�����! 9�	 ��� � ��� 1'!44; ��� n = 0 � ��
�=

a1(K) − a1(SiK) = IiK · a0(EiK) 1'!45;

�� �#��
	���
� ��� � ��� 1'!45; ����� ��$ ��� �$�� i = 1, . . . , m, . . . , n!

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

a1(K) − a1(S1K) = I1(K) · a0(E1K)

a1(S1K) − a1(S2S1K) = I2(S1K) · a0(E2S1K)
!!!

a1(Sm−1 . . . S1K) − a1(SmSm−1 . . . S1K) = Im(Sm−1 . . . S1K) · a0(EmSm−1 . . . S1K)

a1(Sm . . . S1K) − a1(Sm+1 . . . S1K) = Im+1(Sm . . . S1K) · a0(Em+1Sm . . . S1K)
!!!

a1(Sn−1 . . . S1K) − a1(Sn . . . S1K) = In(Sn−1 . . . S1K) · a0(EnSn−1 . . . S1K)

1'!43;

6��������
� ���� 	�� �� ��	��
� ��� i−������������ ��� 
����$������ 
�

��� ������ ��� ������������� 1, . . . , i − 1! 79��) �� �� ���=

I2(S1K) = I2(K), . . . , In(Sn−1 . . . S1K) = In(K)

7+��� �$���
� �
�
$����� �� 
�� ��	 ��� ������������� ' ��� m) �������
�

��� ��� ���������� 
� ��� �	
�) ��	�� ��
�������
� �	
�� 
� 
�� ���������

��� ��	 �� ,�

� '!4@ �� ���=

a0(E1K) = . . . = a0(EmSm−1 . . . S1K) = 1

+� m+1, . . . , n ������������� ����� 
���
� �$����� ���������� ��� ��� ������

���) ��	�� 
� ��� �
�
$����� ���� ��
�������
� 
�� �������� ��������� ����



����


�� �� ��������
 
��� ��	 ������
 ������	 /0

	 � 1���$ ��� � ��
� ��� ����������;) ��	�� �$�� ��	 �� ,�

� '!4@ � ��
�=

a0(Em+1 . . . S1K) = . . . = a0(EnSn−1 . . . S1K) = 0

78���) �� ������ ��� � ����� 1'!43; ������������ �� �
��=
⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

a1(K) − a1(S1K) = I1(K)

a1(S1K) − a1(S2S1K) = I2(K)
!!!

a1(Sm−1 . . . S1K) − a1(SmSm−1 . . . S1K) = Im(K)

a1(Sm . . . S1K) − a1(Sm+1 . . . S1K) = 0
!!!

a1(Sn−1 . . . S1K) − a1(Sn . . . S1K) = 0

1'!4:;

-� ��	����� 	��� ��� �
������� 1'!4:; ���������=

a1(K) − a1(Sn . . . S1K) =
m∑

i=1

Ii(K) 1'!4(;

+ �	
��� Sn . . . S1K ��������� ��	 ��� K 
� ������ 	��� ��� ��������

������ ��� K) ����� ������ � ���������� ��� ���	�� K�! 79��) � � ��� 1'!4(;

�������=

a1(K) − a1(K
�) =

m∑
i=1

Ii(K) 1'!@0;

9�	 �� ��������
� 4 ��� 6�	����� '!40 � ��
� ∇K�(z) = ∇K(−z)) ������

a1(K
�) = −a1(K)! 78���) � � ��� 1'!@0; �������=

2a1(K) =
m∑

i=1

Ii(K) 1'!@';

��� �������
�� 
� a1(K) = lk(K)!

/�-���� 
���
����= 78��� 	�� � K � �� ����$ ����� ����� ���������

�� ��� n �� ������ �������������! "	�� 
� ��� �
�
$����� 
��� ��������

���� ������������ ��� K �� �����.��� ����$ ����� ��� ����������) ��	��



����


�� �� ��������
 
��� ��	 ������
 ������	 /'

a0(K) = a0(EiK)! 9����������� 	
��� ���������� 
� ���� ��� ������$#���

���� ����� ��������� ���������
� 	�� a1(K) = 0!

����� &���
����= 78��� 	�� � K ����� �	
��� 
� 
�� ��������� ���

���� 	�� � K ��������� ���� �����

��� �	
�� 
� ��� ������ n �� ������

�������������! -� ����� ��� �#��
��� ��� � ���� 1'!44; ���������=

⎧⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎩

a1(K) − a1(S1K) = I1(K) · a0(E1K)

a1(S1K) − a1(S2S1K) = I2(K) · a0(E2S1K)
!!!

a1(Sn−1 . . . S1K) − a1(SnSn−1 . . . S1K) = In(K) · a0(EnSn−1 . . . S1K)

1'!@/;

+ �	
��� SnSn−1 . . . S1K �������
� 	�� ����� � �����

����) ��	��

a1(SnSn−1 . . . S1K) = 0! + �	
��� Sn−1 . . . S1K � �� ���#������	 ��	 ��� K

��	��
� �� 	��� ��� ������������� ���	� ��	 ��� n−�����������) ������
����� ��������	� ��� SnK�! 79��) � ��������� �
����� ��� � ����� 1'!@/;

�������=

a1(SnK�) = In(K) · a0(EnSn−1 . . . S1K) 1'!@4;

6��������
� ��	
� 	�� � �	
��� EnSn−1 . . . S1K ��������� ��	 ��� K 
� ���

���� 	��� ��� ������������� ' ��� n ��� 
� �
�
$����� ��� n−������������)
����� ������ ��������	� ��� �	
��� EnK�! 79��) 	��� ���������� � �� � EnK�

�� � �� ��� � �	
��� EnK) ��� $�� �� ���=

a0(EnSn−1 . . . S1K) = a0(EnK�) = a0(EnK) 1'!@@;

8#��
	*��
�) �����) ��� � ��� 1'!44; ���� n−����������� ��� �����$�

*����� ��� 
� ��� � ����� 1'!@4; ��� 1'!@@; ���������=

a1(K) − a1(SnK) = In(K) · a0(EnK) =

a1(SnK�) = a1((SnK)�) = −a1(SnK) 1'!@A;



����


�� �� ��������
 
��� ��	 ������
 ������	 //

79��) a1(K) = 0! �



����


�� �� ��������
 
��� ��	 ������
 ������	 /4

��$���	 ����� ).��� # 	 ��
�	� $ ��� K ′ 
� 
�� �!����"��, 	� 	�	�	� �����

���������������$ ���� a2(K) ≡ a2(K
′) mod 2%


��
���� +��
$*��
� ��� ������������� 	��� #������� ��� & �
� '!/0�!

& �
� '!/0= "� �����
� '!@5

78��� ���� �� �	
���= Q1 = E1K, Q2 = E2S1K, Q3 = E3S2S1K, Q4 =

E4S3S2S1K! 8#��
	*����� ����� ��$ ��� � ��� �.

� ���������=

∇K −∇K ′ = z(∇Q1 −∇Q2 + ∇Q3 −∇Q4) 1'!@3;

&�������
��� � ��
�=

a2(K) − a2(K
′) = a1(Q1) − a1(Q2) + a1(Q3) − a1(Q4) 1'!@:;

79��) �� ��	���
� ��������
�� ��� ���#��$� ��� ����������� a2(K), a2(K
′)

��� �������
�� ��� ���� ��� �	
���� ��$����� ���� ��������
	 ��� ����
��

������
�� ��� �	
��� Q1, Q2, Q3, Q4! >�$� ��� ����� ���#�������� ��	��� ��

��������
� �� �	
� ��� ������������� 1, 2, 3, 4 ���� ���� �� ��
#�����

�� ������������
�� ��� �����	
���� �	
�� ��� �� �����.�� �	
��� 
� 
��

���������! +� ��	��� ����� #�������� ��� & �
� '!/0�! "����) �������*�����

���� ����
��� ������
�� ��� �	
��� Q1, Q2, Q3, Q4 ����������
� ������ ���

� ��� 1'!@:;! �

�� �����
� ���� ��� ����
	 
��� $���� ����������� �	
���!

#������ ���
� � �����	���� ��% ��	� �	
��� K 
� 
�� ���������) ��
�!

A(K)) ����� � ��
� ��� ���������� a2(K) ��� �������
�� ���-�* ��� K

��������
��� modulo 2) ������=

A(K) ≡ a2(K) mod 2.



����


�� �� ��������
 
��� ��	 ������
 ������	 /@

%���	 ����� ).��� $, SiK ��� EiK ��
�	� ���� ��������	���� ��� �(��
� 3

�	! �	�!�� 
	! !	�"�#$ 1�� �� � �����+

A(K) − A(SiK) = Ii · lk(EiK) 1'!A';


��
���� 8#��
	*��
� ��� � ��� 1'!44; ��� n = 1=

a2(K) − a2(SiK) = IiK · a1(EiK) 1'!A/;

+�	��  ����
��������� �� ,�

� '!4A ��� �� �����
� '!@5 ��������� ��

*����
���! �

��# ���$������ �	� 
��
��

&��� ���$���#� ���� �� ���$���
� ��� ������ ��� ���#������ �

�
��� ��

�����
� ���� ����
	 ��� ����������� ���  ����
��������� ��� � ��� 7���1


2�
���
��
 ��� �	
��� ��� �� ������
��
� ��� �������
�� ��� ����
�� ���

��� 
� ��� +���
	 '!@(! 9� �*��
� 
� 
������ ������� �� ������ �#����� ���

���#$�����!

����� ������
�



#������ ����� -�� ��������� S 1 ���� ������; ����� 
�� ����$����� ����

����	����) ������ ���� ���������	�  ����) ��� ������ �$�� ��
��� ����� ��

��� �� 
�� ������� ����� � �
���
��#��� ��� R
2!

#������ ����� <�� ���#$����� S1) S2 ����� ��	�	�����) �� ��$� �� �
���
���

#��
	� h : (R3, S1) → (R3, S2) �!�! h(S1) = S2!

2�� �� 
��������
� ��� ���#$����� ��� ������	�	�	 
�) ������ ���  ���*��
�

�� �������) 	 � ���7 ��$��� ������� ��� 
� ������� ��
��) ������ ���� �� 
��

��
������ ��� ��������	 ����) �� �#$������� ���$ 
���� ��	������ ��
��

��� �� ��������� 	�� ��� ���#$����!



����


�� �� ��������
 
��� ��	 ������
 ������	 /A

& �
� '!/'= B��������� 8��#$�����

#������ ����� <�� ���#$����� S1 ��� S2 ���
$*����� 	
	�	
	������) 	��� 
��

������������� ��� S1 
����� �� ����� ��� S2 �	������ ��� ���������������

���$����� �� �������!

& �
� '!//= +
���
��#���� 8��#$�����

#������ ����� -�� ���#$���� ���
$*���� �������) �� 
����� �� ������������

��� ��	 �������
��� ����
	 ��������) ������ �� ����� ��
����� ��� ��� � ��

������! + ����
	� ��� ���� 
��� �������� ���#$����� ���
$*���� ���	� ���

���#$�����!

#������ ����� 78��� ���#$���� S ��� ���� T (S) 
�� ������������� ���! �

�������������� &���� χ(S) ��� S ���*���� ��= χ(S) = V −E + F ) 	��� V �

����
	� ��� ����#�� ���� �������������) E � ����
	� ��� ������� ��� F �

����
	� ��� ��������!

���������� 9������������ 	�� �  ������������� &��
� ��� �
���$��� ��	

��� �������������!

��$���	 ���	� 6 �������������� &���� ���������-�� ��� ����� 	
	�	
	��

���� 
��� ����������, ����� #���#� ������ �����	���� ��� ������"� ��������"�

����� � �	�	%



����


�� �� ��������
 
��� ��	 ������
 ������	 /5

�  ������������� &��
� ��� �� ����� 
��� ���#$����� ���������� 
��� ���

� ����

χ(S) = 2 − 2g

	��� g �� ����� ��� ���#$�����! 79��) ��� �� ����� ����� ������ ����������!

#������ ���
� -�� ��������� 
� � �	�	 S ��������� ��	 
�� ������� ���#$����

�#�������� �������
��� ������ ������! "� ������ ��� ��
����������� 
�

���	� ��� ��	�� ���
$*����� �!�	������ �!����"��� ��	�����# �	
�	������

��� S!

"� ����� 
��� ������� ���#$����� ���*���� �� ����� �� ����� ��� �������� ��

��������!

#������ ����� -�� ���#$���� ���
$*���� ��	�����	����
� �� � �� ��� �������

�� ������ �� 
������ ��  ��
�������� 
� ���#������$  ��
���) ���� ���� ��

 ��
��� �� 
�� ����������� ���$ 
	�� ���$ 
���� ��� ���	���!

&�� & �
� '!/4 ��������*����� ��� ���#$�����) 
�� �������������
� ���


�� 
� �������������
�! � ��������� ����� � ������ ������ 0�
)
���

& �
� '!/4= 6�����������
	� 8��#������

&���	�� �)0�) �5���������
�� 
� ��	�����	����
�� ��������"�7 8�� ���������

����� 
� ��	�����	����
� �� ��� 
��	 �� �������� 
�� ������ '	����� 
� �������

����
� ���	�"�%

2�� �� ����.����
�) ������
���� �� ������������
� ������ 
�� �������

���#$���� S) ������ �� �����*��
�= �� ����� �������������
�) ��� ����
	 ���

���������� ���������� ��� ��� ���  �������������� ��� &��
��
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�� �� ��������
 
��� ��	 ������
 ������	 /3


���
 ������
�

 ���	���

"� '(4@ � ���
��	� 
���
����	� ,
�)
�� �

�
�� ������
� �� �����$�� �����
�)

�� ����� �#��$ �������������
�� ���#$����� 
� ������ �$����� ������� �	
�

��!

��$���	 ����� ��� ���� ��
�	 �� ����	7 K 
�	��� �� �������!����� 
��

��	�����	����
� ��������� 
� � �	�	 �	� K% 8�� ���	�� ��������� �������

��������� (��%���$


��
���� � ��	���
� ����� ���������$ � ���	���
�� ��� �

�
�� ��� ���

��������� 
��� ������� ���#$�����!

• E����$
� 
� ��� ��$���

� ��� K ��� ��������
� ���� ������������
	!

1& �
� '!/@�;

• 8
�
������
� ��� ������������� ��
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	 ��� ��$����� �� ���	� ��	

��� ������������
	 ��� �! 2�� �$�� ����� 
� ������������
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�
�� �� ��� ��$���
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)
���


� ��	�� ��$���� ��� ���������� ������
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��	! ��
�	! ���� �	! ��
�	! ���%	��$
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�
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� �������


��
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&�� ���� ���) �� ���
��
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�
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������! � ���������� ��� ������$.�
� #������� ��� & �
� '!/3!

• �$�� �������� ����� �
�
� 
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�
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�� �������� �$�� � �$�� ��	 
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�
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� ��������� �� ������ ����� �������
���� 
���
� ���� 1�
�.
�� !

8�����) ��
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�
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�	� 	� 	�	�	� #�����	!� ���� ������ 
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#����� ����� ��� ���� L 	 ����	� �	! #�
�	!������� 
� �(	
��!��� ��� #����

�� �����% ).��� ���
� lk(L) 	 ����
�� �!����(�� �	!% ���� 	� �����	�����

��% ��� K, K ′ �!�#�	���� 
��� ��� ������+

Arf(K) − Arf(K ′) ≡ lk(L) mod 2 1'!55;

&�����	 ����� ).��� ���� ��
�	� K ��� ���� A(K) = a2(K) mod 2 � �����

�	���� ��% �	! $ ���� 	������� ��	� *���
� 0%49% ���� A(K) = Arf(K)%
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��	� �	
��� �����*����� ��� ��
� ��� ���� �����

��� �	
��! � ����������

��� 	��� �������� ���� +���
	 '!5@ ���������� 
�� ����	��
� �
����� 1� ���

1'!55; ;! 8#F���� �� ��� ����������� � ��� ��� ���� ��
� ���� �����

���

�	
��) � ��
� ���� �� ����� ���� ��� �$�� �	
��! �



�	������ �

��
��� ��� �
���� �	

�
���
���

��� %���&��	 	�� �'� (����	 )�	$'�����

#������ ���� 78�� �����
� G ����� ��� ��������
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� ���� ���	��� V �= ∅ ��� E) 	��� �� E ����� ��� ��������� ���

���	��� ��� 
� ��������
���� *����� ��� V !

"� ���� ��� ��� ���	��� V ���
$*����� �	�!��� ��� ���#�
���� G) ��� ��

���� ��� ��� ���	��� E ���
$*����� ���!���! "� ������ V ��� E

���������� �������
���! &�
#��� 
� ��� ����
	) ��� ��$#�
� ��� ����� ��

�����$ ��� �� ������� 
�� ����#� 
� ��� ����	 ���) ���� ��� � ������	�����
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3 ��� �������� ��� ���#��


��� ���� ����	 ����! 9� G ����� ��� ��$#�
�) ��
� 	�� � h ����� ����

	
	�	
	����
�� �	! (R3, G)) ��
�! h : (R3, G) → (R3, G) �� h : R
3 → R

3)

h(G) = G ��� � h �������� �� ����#�� �� ����#�� ��� ������� �� �������!
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#������ ��� ���  ���!

#������ ���� 78�� ��$#�
� G ���
$*���� �����#	 	��� 
����� �� �
#�������

��� ������� ���� ���� �� ������� ��� �� 
�� ��
������!

#������ ���� "� ��$#�
� G′ = (V ′, E ′) ��
� 	�� ����� !�	�����
� ���

G = (V, E) �� V ′ ⊆ V ��� E ′ ⊆ E!

#������ ���� 78�� ������ ��$#�
� 
� n ����#��) ��
�����$ Kn) ���*����

�� ��� ��$#�
� ������ ���� �$�� ����#� ��� �� ��������� 
� �$�� $���

����#� ������� 
� 
�� �����$! 78�� ������ ��
���� ��$#�
� 
� n + m ��

������ ����#��) ��
�! Kn,m) ���*���� �� ��$#�
� ��� ����������� ��	 ���

������ ����#�� V1 ��� V2 
� n ��� m �� ������ ����#�� �������� � �!�!

�$�� ����#� ��� V1 �� ��������� 
� �����$ 
� �$�� ����#� ��� V2 ��� 
	��


� �����!

& �
� /!'= <�� ���#�������� �
#�������� ��� ���#�
���� K6

6��������
� ��� ��
��� ���	 ��� ��
�����	 ��������
� ��� �������

2��#�
$��� �� ����� ��  ����
��������
� ��� ���� ���!
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��$���	 ��	� �)����	"���� ��*+� ).�� �����
� G ����� �����#	 �� ��� 
��	

�� ���� ��� !�	�����
� �	! �	 �����
� K3,3 � �	 �����
� K5%

& �
� /!/= "� ���#�
��� K3,3 ��� K5

#������ ��
� '! 78��� � ��	� �� ��� ��$#�
� G ��������� 
�� ��������


��� ��������� ���� ����� �����$������� ����#�� ��� ������� ��� G 
� ���

��	������ ���	����� = � ��������� �� �*�� ��� ��������� ���� ���� ����#�)

�$�� �����$ ��� ����� ���� ���� ��������� ���������� ���� ����#� ��� ����

������� ��� ���� ����#� ��� ������ ��� �$�� �����$ ��� ����#� �
#���*�����

������� 
�� #��$!

/! 78��� � ��	� ,�
���	� ����� ���� ������ ��� ���� ���� ��	 	��� ��� ���

��#�� ��� G 1	 � 	
�� ��� ������$ ��� ��	 	��� ��� ������� ���;!

��� �� (���'�	 	
���� �	� 

��
�

&��� ���$���#� ���� �� ����������
� ��� �� ������
��
� �� �����	 �����
�

��� ���-�* ��� �������

��$���	 ����� �!	�"�# ��� -	��	�� �� *� 0% $��� �
� ��!�� �	! ������


��	� K6 ��	� �"�	 �������� ���� 
� �����

��	 ����	%

2% $��� �
� ��!�� �	! �����
��	� K7 ��	� �"�	 �������� ���� 
� �����
�


��	 ��
�	%

���������� 9�	 ��� ��	���
� ��� �����
���� /!'0 ����������) 	���

�� ���
� ��� ���� ���) ��� ��������
��� ��������
��� = ���� �
#������
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��� K6 ����� �� ��� *����� ������ 
� ������	 ����
	 ������
�� ��� �$�� �
�

#������ ��� K7 ����� �� ���� ����� ,��
���� 
� 
� 
������� ���������� ����

� ���� ��� ��	���
�� ����� ���� ��� �� ��� 
��� ��� �����
����! ������
�


�� ��������
��� �
#������ ��� ��$����� ���#�
���� ��� �� ���������� ��

��
�����
�! &�� ���� ��� ������
� ���������� ��������� � ����� ����� 
�

�����

��� ���� �
#������ ����! <�� ���
� 	�� � ��
� ��� ����������� ���


����$������ ��	 ������ ������������� �� ����� ��
����� 	�� � ��
� ���

����������� ��������� ����� ���� �� �$�� �
#������! 79��) � ���������� �����


� �����

��� ��� �$�� �
#������ ��� ���
���� �$�� �
#������ ����������

�� ��
�����
�! �� ��� ������
� ���� ���� ��	���
� ��� �����
����!


��
���� ��� ���������� ����

+
�(��,� ��* �) 78�� ������	 �� 
�� �
#������ ��� K6 ���*���� �� ����

������ � ������ ����������� ��	 4 ����� ���� ������� ��� ��� � ��� �� 
��#�

�������� ��� ��$#�
�!

6��������
� 	�� ����������� 4 ����#�� ��� ���#�
���� 
�����
� ��

��
���������
� ��� ������� ��	 ��� ������� ��� ��� ������� ��� ��� �����

��� ��	 ��� ��	������ 4 ����#�� ���! <�
���������� ���� ��� *����� 
����

1�
�:�
��� 
���
� ���� ��������!

+ ����
	� ��� �������� ����#�� ��� �� ��
���������
� ��� ������� ���

��$#�
� K6 ����� 120 = 6 · 5 · 4! 8����� 	
�� �� ��
�$���
� ��	.� ��

����$ �������� ��� ����#�� 1�� ������� {1, 2, 3} ����� �� ���� 
� �� �������

{2, 1, 3}; �� ������ �� ���������
� ��� ����
	 �������� 
� ��� ����
	 ���

������� 
��������� ����� ����
�� |S3| = 3! = 6) ������ � ��
� 20 ��������

��������! "����) �$�� ���$�� ����#�� ������*�� ��� �� ������� ������� ���

� �
���*���� ��	 ��� ��	������ ����#��) ��� ��
����� 	�� � ����
	� ��� ���

�#�������� *����� �������� �� ����� 20 ÷ 2! 79��) �� �$�� �
#������ ���



����


�� �� ������� �
� ������� �� ��
����
�
 4:

���#�
���� K6 ��$� ��� 10 *���� 
���� 
���
� ���� ��������!

78��� ���� 
�� ��������
��� �
#������ ��� K6! +��*��
� �� U ∈ Z
+

�� $�����
� ��� �������� ��
�� ��� ����
�� ������
�� ��� 	�� �� 10 *����

�������� ���� �
#������ ��� ���*��
� V �� �� ���C�	����� ��� U ������

2� 79� ����������
� �� ��$#�
� ���  ���) �	�� � ����
	� ������
�� ���

*����� �������� ��� ���$*��) 	��� ������
�
� ��� ��#$���� '! &������ ��

��
�� ��� U ��� V ����
����� �
��$������ �� ���� ��� ��������!

2�� �� ���$���
� ���� �� 
�� $��� �
#������ ��� K6) ����� �� ������.�

��
� ��� ������ ��� ������������� 
���
� 
���� ������� ���$ ��� 
���
�

�
�
$��� ��� ����� �����$� ����� ��� �� ��������
� ��� ������� �����������

���� �� 
������ �� ����
��#�������! -� ���	� ��� ��	��) 	�� ���������

�� �� ����� � �
#������ ��� �� ��$ �������
�) 
�����
� 
� ����� ���� ���

�������
���� �� ������ ������� ������������� �� ������
��
� ���� �� ���

�
#������ ��� ���#�
���� K6!

G����$ 
� ����� �� ����������) �� ��$#�
� ��� ��������� ��� ����� ����

�����	 
� �� �� ��	) ����� ���$ �
���
��#��	 ���! �� ���
��
� 	�� �� �������

������������� ��� �����$*��� ��� ����
	 V ) ������ � ��
� ��� ����� ���	����

��� �#���
���� ���#�
���� ��� 	 � ��� ��������
���� �
#������� ��� ���

 ���) $�� �� V ����� ���������� ��� �
#�������!

& �
� /!4= 6�������� ��	 
�� �
#������ �� 
�� $���

>�$� ��� 3 ����� ������������� ��� ��$#�
� = 
���
� 
��� �����$� ���

��� ������ ���) 
���
� ��� ������� 
� ����� ����#� ��� 
���
� ��� 
� ���

��� ���� �������! 8
��$*��
� ��� ���� ��� �$�� ���������  �����$!

• &��� ����� ���������) � ����������� ��� 
����� �� ����� 
���
� ��� 
���



����


�� �� ������� �
� ������� �� ��
����
�
 4(

�� �������� �#�� ���$ ��� 
����� �� � ��� ����� �����$! 79�� �� V ���

�����$*����!

• &��� ��������� ����� ���� ����#��) �� ��� ������� ��� 
����� �� �������

�� 
��� �������) �#	��� ��� ����������� ������� ��� � ��� ������ ����#��)

��	�� ��� �$�� �� V ����
���� ������	!

• 8����#���� �������$*�� � ����� ���������) 	��� � ��
� 
�� �����������


���
� 
� ����� ���� ������� E1 ��� E2! �$�� *����� �������� T1 ��� T2

������ ���� �� T1 �� ����� �� ��� �����$ E1 ��� �� T2 ��� �����$ E2) ��

������� ������ ���� ����
	 ������
�� ��� ���$ ±1 
� ��� ������ ��� �����

��������! +� ������� E1 ��� E2 ������*��� 4 ����#�� ��� ���#�
����) $��

���
����� $���� 2 ����#�� V1 ��� V2) �� ������ ��� ������� �� �����!

>�$� ��� ����	� ��� �����$ *���� �������� ��� ���������� �� �����$�

& �
� /!@= <�� 
� ����� ���� ������� ��� K6

���
� ��� ����#� V1 
� ��� �����$ E1 � ��� E2 �������� �! 9��$ �� ���

*���� ����� �� 
	�� ��� ����� ��� ��� ������� E1 ��� E2! 9��$*����� ���

���� ��� ������������) � ����
	� ������
�� �$�� *������ �� ���$
�� ���$

±1) ��	�� �� U �� ���$
�� ���$ ±2 � 0 1�� ������.��
� �� ���$
��
� ����	�

 ���� ��� ��� ������������
	 ��� �������;! 79�� � ��
� ��� V = U mod 2

�� �� ���$
�� 
� ��� ������#������ ��	� $����� ����
�� ��� U !

9�����
�
� 	�� �� V ��� �����$*���� ��	 ��� ������ ��� ����� ��� �����

��������� ���� �
#������ ��� ���#�
����!

6��������
� ���� 	�� ���� �
#������ ��� K6 ��� & �
���� /!A) U = 1

��� $�� V = 1! �� �� ��� ��� V = 1 �� �$�� �
#������ ��� �#���
����

���#�
���� K6! 9#�� V = 1) ��� 
����� �� ����� U = 0! &������) ��

�$�� �
#������ ��� K6 ��$� �� ����$ ����� ��� *����� 
���� 
���
� ����



����


�� �� ������� �
� ������� �� ��
����
�
 @0

�������� 
� 
� �����

��� ����
	 ������
��!

& �
� /!A= 78��� ������ �� 
�� �
#������ ��� K6

+
�(��,� ��* �)

2�� ��� ��	���
� ��� / ��� �����
���� /!'0  ����*	
���� 
�� ��� ���������

���������� ��	 ��� ����
	 ������
��! ��  ����
��������
� ��� ����������

��� ��	� �	
��� ��� �� ,�

� '!A0 ��� ��#������ '!

78��� 
�� ��������
��� �
#������ ��� ���#�
���� K7 ���� ������$�����

 ���! +��*��
� �� � �� $�����
� ��� ����������� ��� 	��� ��� ������

,��
���� ��� ���#�
����! +� ������ ����� ����� 360 = 1
2
· 6! 1�#�� ���


�� �����#���� � #��$ ��� ������; ��� ��� ���� ��� ���*��
� σ = λ mod

2! 6��#���� �� λ ��� σ ����� ����������� ��������� ��� ���#�
����! ��

���
��
� 	�� � ��
� ��� σ ����
���� ���������� 
� ������ �������������)

$�� 	�� ����� ���������� ��� �
#������� ��� ���#�
����!

7+��� ��� ���� ��������� ��� K6) �� ������ �� �
��$���
� ����� ��������

���� �������������! � ������ ��� ������������ �� 
�� ����������� 
���
�


��� �����$� 
� ��� ����	 ��� 
����� �� �������������� 
� ����� �������

������������� ���#�������� ������� 
� ����� ����#�) 	��� #������� ���

�����$�� � �
�!

& �
� /!5= 9����� ������������ �� 
�� �����$



����


�� �� ������� �
� ������� �� ��
����
�
 @'

8�����) � ������ ��� ������������ 
���
� ������� 9) D 
� ����� ����#�


����� �� ����� �� �
�� 1��! & �
� /!3;= ���������
� �� ��$ ��� 
�� �����$)

���� ��� ���$����
� ��� 9) 
����������� ��� ����#�� ��� ���� ��� �� �	��

����������� ������������� 
�*� ��� �� ��	����� ��$#�
� ��� 
� ��� ����

��	�� 
��������
� ��� ����#� ��� �����$� D ��� ��� ������ ���� 9 ���� ���

�����������!

& �
� /!3= 9����� ������������ 
���
� ����� ���� �������

-� ���	� ��� ��	�� ��
����������� ������ ���� ������������� ��� ��$#��


�) 	
�� ���	 ��� 
�� �����#���� ����� 	�� �� ��$#�
� ��� K7 ����$ ��� ����

�����
��� ����������� ������� �� 
��#� ��� � �
���� 1������� 
� ��������

�����������;!

7+
���) ��� �� ���$
��
� ��� ����������� 
���
� ��� ���#�������� 
�

����� ���� ������� 9) D 
�����
� �� #����
� ��� ����������� ��� 
���

#� ��� & �
���� /!: 
� �� �� ���������
� �$�� �����$ ���� �� ��
��� ���

������������ 1������� 
��$ 
� �������� �����������;! 79��) 	�� �� ����

� ������������ ��$������ ���� ��� ���������� �����������) ��	�� ����� ��

���
��
� 	�� �� σ ����
���� ���������� �� ���� �� ��� ���$ ���� �������

�������������! �

9� ��������
� ���� 
�� ��	 ��� ��� ������� ������������� ���#����

����� ������� 9) D! 6��#����) �� Arf(C) ����
���� ������	) �� � ������

,��
���� C ��� ����� �� ��� ��� ��� ������� 9) D! 78��� C ������ ,��
����

�!�! 9) D ⊂ C! 78��� ε(C) ∈ Z2 � ������ ���� Arf(C) ��� ����������� ��	

��� ������ ��� ������������! 9�	 �� ,�

� '!A0 ����� ε(C) = lk(L1, L2))

�� ���������� �
�� ��� ����� ������	
 ���������� ���
������� ��	
 ��� �
��
������

���������� ��� �
������ ��
 ������!�
�



����


�� �� ������� �
� ������� �� ��
����
�
 @/

& �
� /!:= 9����� ������������ 
���
� 
� ����� ���� �������

	��� L = L1 ∪L2 ����� � ������ ��� ���������*���� ��	 ��� C ��� ��� ������

������������ 	��� ������$#���� ��� ��

�!

�� �
��$���
�  �����$ ��� ��� ����������� ������������!

&�$�� 
���
���� 78��� 9) D ����� ���� ������� 
� ����� ����#�! "	��

� ������ L = L1 ∪ L2 �� ����� 	��� ��� & �
� /!3! 18����� �� ������� ���

��� ����� ���� �����*� ���	� ���� �
�
$������ �� � �!; + ������ L1 �����

���
$������ ��� C 1�#��  ����
������
� 
	�� 
�� �����$ ��� �� ��
�������

���
� ���� �� ��������� ��� ��� "��� ε(C) = lk(L1, L2) =
∑

ω(L1, E) 
�

��� $������ �� ������� �$�� �� 	��� ��� ������� E ⊂ C(E �= A, B)! � ������

��� σ �� �����
∑

ε(C)) 
� $������ �$�� �� 	���� ���� ������� ,��
���� ���

����� ��� ��� 9) D! 2�� �$�� �����$ E ∈ K7, E �= A, B � ����
	� ��� ������

,��
���� ��� ����� ��� ��� 9) D) 8 �����=

• 0) �� �� 8) 9) D � ��� 
�� ����� ����#�)

• 3!) �� � 8 ����� ����� ��� �����$ 
��� ��	 ��� 9) D 1���$ 	 � ��� ���

���;

• '/) �� �$�� $��� ���������!

79��) ��� �$�� �����$ E �= A, B ��� K7) �� ω(L1, E) �
#���*���� $����

����
	 #���� ��� $�����
�
∑

ε(C) =
∑

C

∑
E ω(L1, E) =

∑
E

∑
C ω(L1, E)

$��
∑

ε(C) = 0! <����� � ��
� ��� σ ��� 
����$������!
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 @4

/�-���� 
���
���� 78��� 9) D ���#�������� �������  ���� ����� ����#�!

+ ������ L = L1∪L2 � �� �� 
��#� ��� & �
���� /!: ��� ε(C) = lk(L1, L2) =
∑

ω(E1, E2) �����*����� �$�� �� 	�� �� *���� ������� {E1, E2} ��� C 
�

(E1, E2 �= A, B) �!�! Ei ⊂ Li) i = 1, 2! 7+
��) ��� �$�� *����� {E1, E2}
������� ��� K7 1��
�� ��	 ��� ������ ��� ����� �� 9) D;) �� ���
��
� ���

���� ��� 	�� � ����
	� v(E1, E2) ��� ������ ,��
���� ��� ����� ��� ��� 9)

D ������� ���� Ei ⊂ Li, i = 1, 2 1������� 
� ��������
���; ����� �$��� $�����!

1� �������� Ei ⊂ Li ����� ���������� ���� �� ��������� ������ ��� �� Ei ��

������� �� 
� ������� ���������� ��� ������;!

6�$�
���= +��
$*��
� ��� ����#�� ��� K7 
� ���� ����
��� ') /) ! ! ! )

3 ��� ��
����*��
� 
� (ij) ��� �����$ 
� ����#�� i, j! %���� ��$�� ���

�����	�����) ������
� A = (12), B = (34) ��� ��������
� 	�� � ��
� ��

�����$�� � �
�=

& �
� /!(= <������ 6��������

"	��)  ����
��������� �� ��

�����) � 
	�� ��������� 	��� v(E1, E2) �= 0

����� 	��� �� E1, E2 �������� ��� �� �$���� ��	 �� �����$�� *���� �������=

�! 1/4;) 1@A; �! 1/4;) 1A5; �! 1/3;) 1@A; �! 1/3;) 1A5;

+�	�� �� �������� �� ������ ,��
���� ����� =

�! 1'/4@A53;) 1'/4@A35;

�! 1'/4@A53;) 1'/4@5A3;) 1'/4@3A5;) 1'/4@35A;

�! 1'/34@A5;) 1'/354@A;

�! 1'/34@A5;) 1'/34@5A;

&� �$�� $��� ��������� ��������� �	
��� � ������ 
� ��� ������� E1, E2 ��

������� ���� ���� ���������!

79��) 	��� ��� ���� ����� ���������) �$�� 	��� ω(E1, E2) �
#���*����
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�� �� ������� �
� ������� �� ��
����
�
 @@

$���� ����
	 #���� ��� $�����
�
∑

ε(C)! <�����) � ��
� ��� σ ��� ���$*��!

6��������
�) �����) 	�� ���� �
#������ ��� K7 ��� & �
� /!'0 	���

�� ������ ,��
���� ��������� �����

����� �	
���� ���	� ��	 ��� �����

1'/A54@3; � ������ ����� � �	
��� ��
��
� 
� Arf(trefoil) = 1! 8��
����) ���

���� ��� �
#������ ��� $�� ��� ��� �$�� $���) ����� σ = 1! �

& �
� /!'0= 78��� �	
��� �� 
�� �
#������ ��� K7

&�����	 ����� :�	���"�, ���� �
� ��!�� ���� �����
��	� �	! �������� �	

K6 ��� !�	�����
� �	! �� �������� ���� 
� �����

��	 ����	 ��� ������	���,

���� 
� �����

��	 ��
�	 �� ���� !�	�����
� �	! �	 K7% ).��� ���� �
� �

��!�� ���� ����	!� �����
��	� Kn, ��� ���� n > 6, �� �������� ���� 
�

�����

��	 ����	 ��� ���� 
� �����

��	 ��
�	%

���������
� ���� ���� ��	����� ����
	 =

#������ ����� 78�� ��$#�
� ���
$*���� ������� !
���
��
����*� �
�.
� !.���1

�
�� �� �$�� �
#������ ��� ���  ��� ����� �� ���� 
� �����

��� ������ 1

�������� � �	
�� ;! � ���	���� ������ ���� ����� ���	���� ��� �#���
����

���#�
����!

<�����) ��� �����
� ���-�* ��� ������ ������
�
� 	�� �� ��$#�
� K6

����� ������� �
�.
� ��� 	�� �� ��$#�
� K7 ����� ������� .����
��

&�����	 ����� �	 �����
� K3,3,1 ����� �����"� ������$

�"����� � �����
 ��� ����������� ���# ������ ��� ��� ����	�� ���� ��� ��� �����



��
 ���$�����
�
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�� �� ������� �
� ������� �� ��
����
�
 @A


��
���� "� ��$#�
� K3,3,1 ��������� ��	 ���� ������ ����#��) �� ���

��	 ���$ 
� ����� ����#�� ��� �� ����� 
� 
�� ����#�! 7+��� �� ����#�� ��

������ ��	 �� ������ ���$ ���������� 
� ������� 
� 	��� ��� ����#�� ���

��������� ��� ���	���) ���$ 	 � 
� ����#�� ��� ������� ��� ���� ������!

2�� �� ���
��
� 	�� �� ��$#�
� K3,3,1 ����� ������� �
�.
� � ���������� �����

���	
��� 
� ���� ���� ��	���
� ��� ' ��� �����
���� /!'0 ��� ���-�*1

�������

& �
� /!''= "� ��$#�
� K3,3,1

&�
����*��
� {')/)4} ��� ����#�� ��� ������ �
$���) {@)A)5} ��� ����#��
��� �������� �
$��� ��� 3 ��� ��������� ����#�! &��� ��������� ��� �
��$�

*��
� �� �� �����
��
� �������) �#�� ����#�� ��� ����� �
$��� �� ����������


� �������) ���$ �� ��������
� ������� ��� ��
����������� 
� 4 ����#��

��� ���� �������� ��� ������� ��� ���������� ��	 ��� ��	������ @ ����#��!

1&������$ ��
����������� 3 · 3 · 1 = 9 *���� ������!;

7+��� ��� ���� ��	���
� ��� �� K6) � 
	�� ��������� ��� �� U �����$*����

����� 	��� ���$*��
� ��� ���� ��� ������������ 
���
� ��� 
� ����� ����

�������! 78��� 	�� ��������
� ��� ������� E1, E2! 78 ��
� ���
����� @ ���

��#�� ��� ���
����� $���� 4! &��� ��������� ���� � ��
� ��� ��������

�������
��� ������������#��) 	��� ������ ������������� �� ���#���
� 	��


	�� ����#�� 
���
� ���#�������� �
$��� ���������� 
� �������) ��	�� ��

U �� 
��������� ���$ ���� $���� ����
	! &��� ��������
��� �
#������)

���������
� 	�� �� ������ C1 = {1, 6, 7}, C2 = {2, 3, 4, 5} ����� �������
����


���
� ���� 1�
�.
�� 
� lk(C1, C2) = ±1! �

#������ ����� -� ��� 	�� #����	�� ��������	�� ��	� ���#�
���� G ���
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�� �� ������� �
� ������� �� ��
����
�
 @5

����
� ��� ��� ��$#�
� G′) �� ����� ��������� ��	 ��� G ������������� 
��

����#� ���) ������ ��������������� 
�� ����#� V 
� ��� ���� ����#�� V ′ ���

V ′′ ��� ���������� 
� 
�� ��� �����$) � ����� 
����$ 	��� ��� � ����$ �����$

��� ��������� ���� ����#� V ′ � V ′′! &������$) �� �� 
�� ����#� �������

���� H ������� ��$� ���
(

N
1

)
+

(
N
2

)
+ . . .+

(
N

[N/2]

)
���#�������� ��������� ���

��������
���� ����#��!

& �
� /!'/= <�������

&�����	 ����� 6 #����	�� ���� �����"� ������ ���	����� �����
��	� �����

�����"� ������ �������% ��	�����$


��
���� �� ������
��
� �� �	���
� ���� ��������� ��� ������� �
�.
�

���#�
$���! � ��	���
� ��� �#��$ ��� ������� .����
� ���#�
��� �����

	
���!

78��� ��� ��$#�
� G ��� ����� ������� �
�.
� ��� ����� 
�� ��������


��� ����#�� ��� V ! >�$� �� 
�� �
#������ ��� G 
� ����$ ����� ��� *���

��� �������
���� 
���
� ���� !�
�.
�� ������! 9� � ����#� V ��� ������

�� ������ ��	 ������ ���� �������) �	�� ���#���� � �������� ��� �����$*��

��� ����
	 ������
�� ����! 9� � ����#� V ������ �� ���� ��	 ������ � �)

	��� #������� ��� & �
� /!'4) ��� ��	������ ����������� 
��$ �� �������� =

+� ��� ������� ��� ��������� ���� V �� ���������� ���� ���� ��� ����#�

� �� ��������� � �$�� 
�� ���� V ′ ��� V ′′ �������� �! 6��#����) � ����
	�

������
�� ��� ������ ��� ���$*�� �� ��
�� ��	 ��� ��� �����������! 1&���

������� ���������) �� 
	�� ��� ���$*�� ����� � �������� ��� ���� �����$�

V ′V ′′ ���� ���� ��	 ���� ��� �������!; �
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�� �� ������� �
� ������� �� ��
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�
 @3

& �
� /!'4= 78��� ������ ���$ ��� ��������

+0
.
 ��
��)��� ������
� �� '(:: �� �����$�� �����
�) �� ����� �����

�����
�  ���� ��	���
�!

��$���	 ����� �	 �����
� K5,5 ����� �����"� ��	����$

��� ��	&�����'�	 �	� &	�	��'������ ��� �������

������ ��	$'�����

8���
� 	�� ��� �$�� n > 6) �� ������ ��$#�
� Kn ����� ����	 ���� �������

�
�.
� ��� ������� .����
�� �� ����
� �� �����*��
� ���� ����� �� ����������

� �����$ ���#�
��� �� ����� ����� ���� ������� �
�.
� ���� �������.����
��

6�����$#��
� 
���
����$ ��� ������ ��� ���� ������ ���#�
����  �����


��������� ��� 	�� �
��� �
�
����

#������ ����� -� ��� 	�� �!��	�� �� ��� ��$#�
� ���
$*��
� �� ����������

� �������� ��� ���������� ����#�� ��� ���#�
����! � ������� ����� � ���

������#� ���������� ��� ��������� ��� ����� ������$.�
� ���� +���
	 /!'@!

#������ ���	� 78��� G ��� ��$#�
�! ,�
� 	�� �� H ����� 
��	� ��� G) ��

�� H ����� �����$#�
� ��� G � ��������� ��	 �� G 
� ������� ��	� ��������


���� ����
�� ������� ��� G! 2�� ���$����
�) �� ��$#�
� K6 ����� �
���

��� K7 ����� 
��������� ��	 �� K7 ��� �����$#����� 	��� ��� ������� ���

���������� ���� ����#� 3 ���	� ��	 
�� ��� ���������
� ��� �����$ ����

�� �����.�� �� ��$#�
� K6!
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&�
����*��
� G − e �� ��$#�
� ��� ��������� ��	 �� G
� ������#� ���

�����$� e ��� G/e �� ��$#�
� ��� ��������� ������������ ��� �����$ e ���

G!
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�
 @(

+� 0��-��
� ��(�������� ��� ����� !"#$$� ������
�� �� �����$��

�����
�=

��$���	 ���
� /� ��� �����
� H ����� 
��	� ���� �����
��	� G ��� �	 H

����� �����"� ������ � ��	����� ���� ��� �	 G ����� ������	��� �����"� ������

� ��	����$

#������ ����� 78�� ��$#�
� G ����� �
��� �
�
��� �� ���� 
�� ���	����)

�� �� G � �� ��� ���	���� ���� ��� ������ �
��� ��$#�
$ ��� ��� ��� � ��!

&���	�� �)��) �	 �����
� K6 ����� 
��	� 
���
�� �� ��	� ��� �#������

�����"� ������$


��
���� 2�� �� ���
��
� �� *����
���) �����$#��
� 
�� �����$ e ���

K6 ��� �
��$*��
� �� ��$� �� �
#������ ��� K6 −e ���� R
3 ��� ��� ����� ��

������ �����! 9������� �) ���������
� 
�� �����$ e ��� K6 ��� ���*��$
�

�
#������ ��� K6/e ��� ��� ����� �� ������� �����! ,	�� ��� ��

������ ���

���#�
���� ��� � �� ��
���� ���� �����$ �� �����$.��
� � �� ���������
�!

& �
� /!'@= 8
#��������  ���� ������� �
��� ���#�
$��� ��� K6

&�� & �
� /!'@� � ��
� �����$.�� ��� �����$ 1'@; ��� �
#������
� ��

��	����� ��$#�
� 	��� ��� & �
� /!A! + ������ 
� ���������� {1, 5, 4} ���
{2, 6, 3} ���� � 
	��� 
� �����

���� �� ���� ��� �
#������ ��� K6! 79�� ��

��$#�
� ��� � �
���� ��� ����� �� ������� 
� �����

��� �����!

&�� & �
� /!'@� ��
�������
� 
�� �
#������ ��� K6 ������������ ���

�����$ 14@;! &����������� ��� �����$ ���� ���������
� �� � ��
� ���

������� ��	 ��� ����#� 4 ���� �$�� $��� ����#�! 2�� �� � ��
� ��$#�
�
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1	��� �������� ���� �� � ��� ��#������; ����������
� 
�� �����$ ��	 �$�

�� ������ *����� �������! 6��������
� 	�� ���	 �� ��$#�
� ��� ����� ��

������� 
� �����

��� �����!

"����) �$�� �
��� ��� K6 ����� ���������$ �
��� ��	� ��	 �� ��� ����

����
��� ���#�
��� ��� ���
���� � �� �
#������ ��� ����� �� 
	�� �����
�


����� �������! �

&���	�� �)��) �	 �����
� K7 ����� 
��	� 
���
�� �� ��	� ��� �#������

�����"� ��	����$


��
���� &�� & �
� /!'A ������
� 
�� �
#������ ��� K7 	��� � ��
�

�����$.�� ��� �����$ 1'@; ��� 
�� �
#������ ��� K7 	��� � �����$ 14@; � ��

���������!

& �
� /!'A= 8
#��������  ���� �	
���� �
��� ���#�
$��� ��� K7

8����� ����������� ������ 	�� ������ ��	 �� ��� ���$ ���#�
��� ��� ����

�� �� ���� 
� �����

��� �	
��! 79�� �$�� �
��� ��� K7 � �� 
�� �
#������

 ���� �	
����!�

�� ���$���
� ���� ��� ��� ����� ������� �� ��� ��$#�
�!

#������ ����� 78��� ��� ��$#�
� G �� ����� ����� �� ���� ������	 ����� 
�

������� ����� ����#��) ���� a, b, c! 78��� G′ �� ��$#�
� �� ����� �����*����


� �� G ���	� ��� ������ {a, b, c} ��� � ������ �������������� ��	 
�� ���

����#� v ���
�� 4 ��� ����� ���� ������� (av), (bv) ��� (cv)! ,�
� 	�� �� G′

��������� ��	 �� G 
� 
�� ������ 
;! 19������� �) �� G ��������� ��	 ��

G′ 
� 
�� ������ ;
!;



����


�� �� ������� �
� ������� �� ��
����
�
 ;"

& �
� /!'5= �������� <> ��� ><

"� ���#�
��� �� ����� ���������� ��	 �� ��$#�
� K6 
� �������� <>

��� >< ��������� ��� ���������� ���#�
$��� �
�
��
�� 2�� ���$����
�) ��

��$#�
� K3,3,1 ������ ���� ���������� ����! -�� �
#������ ���� #�������

��� & �
� /!'3!

& �
� /!'3= � ���������� �
�
��
�

+ ����� 1'(:4; ������
�  ����
��������� 
�� 
����� ���	
��� ����� ���

���-�*1������ �� �����$�� �����
�!

��$���	 ����� �	 �����
� K6 ���"� ��� �� �����
��� �	! ����	!� ����

	��	������ .������� ����� �����"� ������ ��� 
������ 
��	� 
���
�� �� ��	�

��� �#������ �!��%

<�� �� �����
� ��� ��	���
� ��� �����
���� /!/@ ���$ ��� 6	���
�

/!'4 � ��
� ����.�� 
�� ��	 ��� �����������!

&�� ���� ��� ���������
� �� �����
� �����)
������ �
*���� ��� ������

!"##<� �� ����� ��������  ���������
	 ��� ������� �
�.
� ���#�
$���!

��$���	 ����� ��	�����	� �%�%7 ).��� ��� �����
� G% �� ���
��� �����

��	# ��
�+
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�� �� ������� �
� ������� �� ��
����
�
 A/

0% �	 G ���� 
�� �
� ��!�� ��	� R
3 �	! #�� �������� ������ 
� �����

��	

����	%

2% �	 G ���� 
�� �
� ��!�� ��	� R
3 �%�% ���� � ��	� �	! G 	��-�� ���� #���	

��	 �!
�����
� �	! G%

3% �	 G #�� ���� 
��	� �	! �� ������ ���� 	��	������ .�������$

&�����	 ����� $��� �����
� �����"� ��	���� ����� ��� �����"� ������$

��! ������� ��
���� ��	$*�	�	

&��� �������
��� ���$���#� ����
� 	�� �� ���#�
��� ��� ����������� �
1

�
��
� ��� ���������� ��	 �� K6 
� �������� <> ����� �
��� �
�
��� �� ����

��� ���	���� ������� �
�.
� ���  ��������*��� �� ������� �
�.
� ���#�
���!

8���� #���������	 �� �
��$���
� ���� �� �� ���#�
��� ��� ����� �
��� �
�
1

��� �� ���� ��� ���	���� ������� .����
� ����� ������� ���$ ��� ����������

��	 �� ��$#�
� K7 
� �������� <> 1� ><;! �� ���
� 	�� ���	 ��� �� ���!

E����$
� 
� ��� ,�

� ��� 0��-��
 �!�! 1'(::; ��� ����������� 	�� ��

�������� <> �� ����������� ��$#�
� ��������� ��� ���	����� ������� �
�.
�

��� .����
��

%���	 ����� ).��� �����
� G ��� ���� ��� �	 G′ ��	� ���� ��� �	 G 
�


�� ������ 
;% /� �	 G ����� �����"� ������ ���	����� ���� ��� �	 G′ �����

�����"� ������ ����% ��	�����$


��
������ ������
��
� �� ��

� ���� ��������� ��	� ������� .����
�

���#�
����! � ��	���
� ��� �� ������� �
�.
� ���#�
��� ����� 	
���!

78��� G ������� .����
� ��$#�
� ��� ���� 	�� �� G′ ��������� ��	 ��

G ��������������� �� ������� 
� ������� (ab), (ac), (bc) 
� 
�� ��� ����#� v

��� � �� ������� (av), (bv), (cv)!

>�������
� 	�� �� G′ ��� ����� ������� .����
�� 79�� �� G′ � �� 
��

� �
#������ ���� R
3 �!�! ������� ������ ��� ��� � �
���*�� �	
��! &�



����


�� �� ������� �
� ������� �� ��
����
�
 ;<

���� ��� �
#������ ��� G′ ��������
� 
�� 
���� ���������� ����� � �� � �
�

>) � ����� ����� �� ��� (av), (bv), (cv) ��� ��� ��
��� ������ $��� �
�
� ���

���#�
����! <�
�������
� 
�� �
#������ ��� G ��������������� ��� �������

(av), (bv), (cv) 
� ��� ������� 
� ������� (ab), (bc), (ac) �� ����� ��������� 
��

�� ���� ����� � � �
���� > ��� 
��$*�� 
� �� ������� ��� & �
���� /!':!

& �
� /!':= -�� ���������� ����� � � �
���� >

78 ��
� �������� 	�� �� G ����� ������� .����
�� $�� ��$� �� ������ C

��� ��
������� 
� �����

��� �	
�� �� ���� ��� �
#������ ��� G! 9� �

������ C ��� ����� �� ��
�� ��	 ��� ������� (ab), (bc), (ac)) �	�� � �	
���

C ����� ���� ��� ���� �������� � �
#������ ��� G′) ��	�� ���������
� ��

$����! 8��
���� � C ����� �� ����$ ����� 
�� ��	 ��� (ab), (bc), (ac)!

>�������
� 	�� ������
�$��� 
	�� 
�� ��	 �����)  !�!�! ��� (ab)! +���

*��
� C ′ ��� ����� ��� G′ ��� �����*���� 
� ��� C ���	� ��	 �� 	�� � �����$

(ab) � �� �������������� ��	 ��� (av), (bv) ��� G′! ,	�� ���������� ��� ����

�����
���� �
#������� ��� G) � ������ C ′ ����� ��������	� ��� C! <����� �


� �����

���� �	
��� C ′ ����� ���� ��� G′) $����!

9� ���� � C ����� �� ��� ��	 ��� ������� (ab), (bc), (ac) ���������
� 
�

	
��� ��	�� �� $����! "����) �� � C ������ � ��� ��� ����� �������) �	�� � C

��� �� ���� 
� �����

���� �	
��� 1�	�� ��� ���������� ��� ������ (abc);!

&������ �� ��$#�
� G′ ����� ������� .����
�� �

E����$
� ���� ��	 �� ��$#�
� K7 ��� �#��
	*����� ����� ��$ ��������

<> ���������� �������� ���#������$ ���#�
���!�! &�
#��� 
� �� ,�

�

�%�� ������ �	� ���$����	� �
��� 
������ ��� ������ ������� ��� 	� 	
�
�
� 	���



����


�� �� ������� �
� ������� �� ��
����
�
 A@

/!/3 ���$ �� ���#�
��� ����� ������� .����
��

��$���	 ���	� �)	�����(�/��������� �� 03 �����
��� �	! ��	� ��	!� ���

�	 �����
� K7 
��� �������� 
; ����� 
��	� 
���
�� �� ��	� ��� �#������

�����"� ��	����$

� ��	���
� ��� �����
���� /!/:) ��� ����� ��� �� ���������
� ����*����

��� ��	����� ��

�!

%���	 ���
� ).��� �����
� G �	 	�	�	 ����� 
��	� 
���
�� �� ��	� ���

�#������ �����"� ��	���� ��� ���� G′ �	 �����
� �	! ��	� ���� ��� �	 G 
�


�� ������ 
; ��	 ������	 (abc) % ).��� ��� ��� ���� ���!�� e �	! G #���	��

��� (ab), (bc), (ac) ��� 	!� �� ����	!��+

�07 !������ �
� ��!�� �	! G − e �	! #�� �������� ������� ��
�	 ��� ���	��

"��� �	 ������	 (abc) �� 	��-�� ��� #���	 ���

�27 !������ �
� ��!�� �	! G/e �	! #�� �������� ������� ��
�	 ��� ���	��

"��� �	 ������	 (abc) �� 	��-�� ��� #���	%

���� ��� �	 G′ ����� 
��	� 
���
�� �� ��	� ��� �#������ �����"� ��	����$


��
���� 9�	 �� ,�

� /!/3 �����*��
� 	�� �� G′ ����� ������� .����
��

I��� �� ���
� 	�� �� �� ��$#�
� H ������
��� ��� G′ �	�� ��$� �� �
#������

��� H  ���� �	
����! �$�� �
��� ��� G′ ����� ���� G′ − e) ���� G′/e ����

�
��� ����� ��� �$���� �����$ e! 79��) ����� �� ���
��
� 	�� ��� �$�� �����$

e ��$� ��� �
#�������� ��� G′ − e ��� G′/e  ���� �	
����!

78��� e 
�� �����$ ��� G′! >�������
� �� ��$ 	�� � e ����� 
�� ��	 ���

(av), (bv), (cv)! %!�!�! e = (av)) 	��� v � ����#� ��� ���������� 
��$ ���

������ <>! 78��� ��	
� H �� ��$#�
� ��� ��������� ��	 �� G �#��������

��� ������� (ab), (ac)!

������� �� ����� ��� �
��� 
� ����
�� ������� �������� ������ �� ��
����� ��� �����

��� 
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�� �� ������� �
� ������� �� ��
����
�
 AA

& �
� /!'(= "� ���#�
��� G) G′) H ) G′ − e

"� ���#�
��� G′ − e ��� H ����� 1��� ������; �
���
��#��$ ���	�� ���

��� ���#�
��� �� �
�
� ��� G′ − e ��	 ��� ����#� b ���� c ����������� ��	

��� ������� (bv), (cv) ��� ��� � ��	 
�� 
	�� �����$) ��� (bc)! "� H �����

�
��� ��� G ��� ���
���� � �� �
#������  ���� �	
����! "����������� ���

H 
�� ����#� v ���������� ��� ��������	 ��� �����$� (bc) ��
�������
�

��� ��$#�
� �
���
��#��	 ��� G′ − e! 9��	 �� ��$#�
� ����� �
#������ ���

G′ − e) � ����� ��� ����� �� ������ �	
��! 7+
��� �� ��$#�
� G′/e �����

�����*���� 
� �� G− (bc)) �� ����� �� �
��� ��� G � �� 
�� �
#������  ����

�	
����!

>�������
� ���� 	�� e �= (av), (bv), (cv)! "	�� � e ����� ��� �����$ ��� G

��� ����� ��$#��� ��� (ab), (ac), (bc)! E��������� ��	 ��� �
#������ ��� G−e

��� ������ ��	�����) ��
�������
� 
�� �
#������ ��� G′ − e �#�������� ���

������� (ab), (ac), (bc) ��� ������������ 
��� ���� ����� D ��� ��������

(abc) 
�� ����#� v ��� ��� ������� (av), (bv), (cv)!

78��� 	�� ���� � �
#������ ��� G′ − e ������ � ���� �	
�� K ′! 8�����

��� ��$� �� ������� �	
��� ��� G − e) � �	
��� K ′ �� ������ �� ����� ��

����$ ����� 
�� ��	 ��� ������� (av), (bv), (cv)! 8����� � �	
��� K ′ �����

������� ��
���� ��� 
����� �� ����� �� 
	�� 
�� ��	 ����� ��� �
7 ����
��

��� 
����� �� ����� �� ��� ��� �����! 79�� ������
�$��� ������� ��� ��	 �����)

 !�!�! ���� ��� (av), (bv)! "	�� 	
�� ��$� �� ������ K ��� G − e � ������

�����*���� 
� ��� K ′ ���	� ��	 �� 	�� �� ������� (av), (bv) � ��� ����������

����� ��	 ��� (ab)! 9�	 ��� ��������� ��� G′ − e � K ����� ��������	� ���

K ′ ��� $�� � K ����� 
� �����

����! 9��	 	
�� �� ���� �� �������� 
� ���

��	���� ��� ������� � �
#������ ���� ��� G′−e ��� ����� �� ������ �	
��!
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�� �� ������� �
� ������� �� ��
����
�
 A5

7+
��� ��� ���
� 	�� ��$� �� �
#������ ��� G′/e  ���� �	
����! �

���������� 78�� ��$���� ��

� 
����� �� ���������� ��� ��� ���#�
��

�� ��� ����� �
��� �
�
��� �� ���� ��� ���	���� ������� �
�.
��

� ��	���
� ��� �����
���� /!/: ������
�$��� ������ �����������! &�����

���$) ���������
� 	�� �� ������� ��	 �� �������� ���#�
��� ���������� ��	

�� ��	����� ����� 
� 
�� 
	�� ������ <>! 79��) ��� �$�� ��� ��	 �� �����

���$ ���#�
��� Gi �������
� �
#������ ��� �
��� ���� Gi−e ��� Gi/e 1���

�$�� �����$ e;! "	��) �� ����� ���$ ���#�
��� �� ����� �
��� �
�
��� ��

���� ��� ���	���� ������� .����
� ���) ��������) ��	 �� ,�

� /!/( ��� ��

��	����� ������� ���#�
��� ����� �
��� �
�
��� �� ���� ��� ���	���� ����!

& �
� /!/0= -�� �
#������ ��� K3,3,1,1 
� ���� �	
��

���������� "� �����
� ��� 	����� ��� ��=�.
 ��� ��������  �����

�����
	 ��� ������� .����
� ���#�
$��� �� �������� 
� �� �����
� /!/A!

+  � ��
�* !3>>3� ������
� �� �����$�� �����
� �� ����� ���������
�  ����

��	���
�!

��$���	 ����� �	 �����
� K3,3,1,1 ����� 
��	� 
���
�� �� ��	� ��� �#�����

�� �����"� ��	���� ��� �
�� #�� ����� ���	�	 ��� �� �����
��� �	! ��	� ��

�	!� ��� �	 K7 
��� �������� 
;%

���������� 6��#���� ��� �� ���#�
��� �� ����� ���������� ��	 ��

K3,3,1,1 
� �������� <> ��� >< �� ����� ������� .����
��



�	������ �

���

��� ���� ��	
	���
���

!��������

��� ���	���*

&����� �
��� ����� � ��$��� ��� %�
���� ��� �� ������� 
� �� 
����� ���

������$������ ��
�� ��� 
�����! -� �� ���� ��	 ���$���  �	��� �� ���#�
��

�� ��� 
������� ��
�� ��� ������� 
� �� �	�� 
����� ���� �������) ��	��

� 
����� ���� ��������� 
	�� �� ����� ��� ���
������ ���� ��� 	 � ���

����������� ���� ��
��! & ����$ ��	�#��� 	
�� ����������� ��� ����������

� 
	��� 
� ��
� �	
���) ������ ��� �����$ 
� �������� ���#�
$���) ���

������ � 
����� ������� ��  ���� ��������
$��� ��� "���������! "������

������ 
������� ��
�� ����������� 	
�� ��� ��� #���) �� �����?��� ��� ��

�� 
	��� ��� �?�� "� ������� ��� �� ������� ������� ����������� ��
��

����� � �����
�� �������� ���� ����� 
�����) �� ����� ������� �� � ��� ��

���������� ���	�����) ����� ��� � ��������� ������� ���� �� ����� ��� ��

������� 
�����!

"� 
	����� �����
� ��	� 
����� ����� ��� 
������ ��� 
����� �� �����

������$����� 
� ��� ��$#�
� �
#����
��� ���� �����$�����  ��� 
� ��� ���

A3



����


���� ��
����������	 �����������������
����
A:

��#�� ��� �� �������� ��� �� $��
� � �
$��� ��	
�� ��� ��� ������� ��� ��

 �
����� ���
��� 
���
� ��	
�� � �� �������� ��������
���� ��	 $��
�!

78�� ��$#�
� ���� ������$�����  ��� ��������� �	�	�	���� � ����	 ��	�	�

�	
�����# �	
�����) �� ��� 
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�� #��$ ���� �
#������ G ��� K6! 7+��� ������
� ��� & �
�

4!5) � ����
��#��
	� 1'4;1/@; ��$����� ��	 
�� ����#� 180 ◦ ���� ��	 ����

�����	��#� $
���! 9��	 ��
����� 	�� �� ��$#�
� G′′ 
����� �� ��������� ���

�����	 �������
��� ���� �� ��� �
#������ G! 79��) �� ���#�
��� G ��� G′′

��� ����� ���� ��� ���
�����$ ������?��
���!
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& �
� 4!5= + ����
��#��
	� 1'4;1/@; ��$����� ��	 
�� ����#�

��� ,' 	�$�&����	 -����������

7+��� ����
� ���� ��������) ���� �����	� ��	��� ���������� �����������

������?��
���� ����� �� ��������$���
� ��� ��� 
�����	 ��$#�
� G ���

���������� ��� ���	�� G�!

9� ��� ��$� �� ����
	�#��� ��� �� 
��������� ���� 
�����	 ��$#�
�

���� ���������� ��� ���	�� �	�� �� 
	��� �����  �
��$ 
� �
#� ����! <�� 
�

�
#� ���� 
	��� ���
$*����� ������	
���! 9� ��� 
	��� 
����� �� ����
���

#���� ���� ���� �� �����.�� � ���������� ��� ���	��) �	�� � ������ ���

�#������� �� 
	��� ����� �������� � ��� ����
	�#���� ��� 
������� ���#��


���� ���� �� �����.�� � ���������� ��� ���	��! &�������
���) �� ���
�� ���


	��� 
������ �� ��������#��� � �� ����������� ���$ ��� 
������ �� ����

���$���� � ���� ��� $���� �� ���
������� ��
�����! 9�$����) ���� ��������

��	� ���#�
���� ��� ���������
� �� ������� ��� ���#�
���� �� ����������

� 
�� ��� $���! +�	�� 
� �
#� ����� 
����� �����$����� 
� �
#� ����� 
����

���� ���#�
$���! 9� 	
�� �� 
�����	 ��$#�
� ����� ���������$ �
#� ����

��� 
�����
� �� ���#�����
� ��� ��� �
#� ����� � 
� ��� 
�����) �#�� � ����

�����
��� ����
	�#��� ��� $���
� �� ��$#�
� 
����� �� 
�� �����  �
��$

��������!

2�� �� ���������$ ������� 
	���) � "�������� �������� ���  ����
� ���

������ ��� �� �����������
� ��� �
#� ����� 1� 
�;! �� ����
� �� ������
�

���������$ ��� ���	���� ��� �
#� ������ ���� ���� �� � �� �� �
��  ����������

���	= �� ��� ��� 
	��� �� 
�����	 ��� ��$#�
� ����� ���������$ 
� �
#� ����)

�	�� �� 
	��� �� ����� ���  �
��$ 
� �
#� ����)  ���� 	
�� �� �� ��� ���7
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��$��� ��� �� ��������#�!

#������ ��	� 78�� �
#����
��� ��$#�
� G ����� �	�	�	���� �
������	) ��

��$� �� �
���
��#��
	� ��� *������ (R3, G) ���� ����	 ��� ��� �� ���������

#�� ��� ������������
	 ���  ����! B������
�) �� ��$� �� �
���
��#��
	�

��� R
3 ��� �� �������� ��� ������������
	 ��� �� ��������*�� �� G ��� G�)

������ �� �� G ��� G� ����� ��������$!

���������� + +���
	� 4!: ����� ��$����� ��� ����
�� ��� �����������

���	��� ���� ������ �	
���!

��! ,' 	�$�&����	 ��� �	����� �
�����

7+��� ���#���
� ���� ��������) �� /��)� �!�! ��������� �� '(:/ �� �����


	��� 
� ��
� ��$��� 0�
)
�� 
� ����� ���$����� ��������� ��� ������ ��

��$#�
� ��� ����� �������! +� ������� ��� ������ ��� ��$��� ������������

 �
����� ���
��� �� 
�� ������� ���������� 
� �
���� $��
� $������ ���

�
��	���) ��� �� ��������� ������������ ������� ���
��� 
���
� ��	
��

$������! 79��) ���� 
������ ��$�� 0�
)
�� �� ������� ���#�����  �
��$

��	 ��� ���������! "� '(3A �� ���� ��� �
�� �� �� �������� ��� 
	��� 
�

��
� ��$��� 0�
)
�� 
� ��� ���������! 7+��� #������� ��� & �
� 4!3) ��

��$#�
� ���	 
����� �� �
#������� ��� �������) ��	�� �� 
	��� ���	 ��� �����

���������$ �������!

& �
� 4!3= &�$�� 0�
)
�� 
� ��� ���������

"� �����
� ��� ������ ��	 ��� /��)� ����) �� �� ���#�
��� ��� ����

��������� 
�� ��$�� 0�
)
�� 
� ����� ��������� ����� ���������$ �
#� ����!



����


���� ��
����������	 �����������������
����
53

�� �� ����
� 
� ���� 
���
������� ����
	 ��� ������� ��� ��� ��$���

0�
)
���

#������ ��
� -�� ������ '	����� ����� 
�� ���� �
#������ ��� S1 × [−1, 1]

���� R
3 ���� �� ��������� 
�� 
� ������������
��� ���#$����! -� ��� 	��

���� �
#������ ������
� 	�� � �������	� ������ S1 × {0} ����
���� �����
�


���� ���� �
#������!

#������ ����� -�� ����� '	����� Mn ����� ��� ��$#�
� ��� ���������

��� ��	 
�� ���� ������� ��
���� K 
� 2n ����#�� ��� n �������� �������

a1, a2, . . . , an! 9� ��
�������
� ����� ��$ ��� ����#�� ��� K 
� 1, 2, . . . , 2n)

�	�� �� ����#�� �$�� �����$� ai ����� i ��� i+n! ,�
� 	�� � K ����� � �����	�

��		�� ��� �� ai �� �!�#����� ����
�� ��� ���#�
����!

&�� & �
� 4!: ������
� ����� ���#�������� �
#�������� ��� �#���
����

���#�
���� M3!

& �
� 4!:= 8
#�������� ��� ��$��� 0�
)
�� 
� ����� ���������

#������ ����� ,�
� 	�� �� ��$#�
� Mn ����� ���	���� ���������� �
�!�

��!
��	 ���� R
3 �� ����� �
#����
��� ��� 
��#� ��� & �
���� 4!( � ����

���������� ��� ���	��!

& �
� 4!(= �������� �
#������ ��� ��$��� 0�
)
��
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8��������������
� ���� �� �����
� ��� /��)�� ��
#��� 
� ��� +����


	 4!:! 2�� ��� �������$ �
#����
��� ��$#�
� Mn ���*��$
� �
���
���

#��
	 h : (R3, Mn) → (R3, Mn) ��� �� ��������#�� ��� ������������
	

���  ����! + �
���
��#��
	� ���	� �� ��������*�� ��������� ��� Mn ��

��������� ��� ������� �� �������! &�������
���) ���� ������� �
���
��#���


	� �� ��������*�� �$�� �����$ ��� ��	� �� K �� 
�� �����$ ��� K! 79��)

h(K) = K! 9�������#�) �� h(K) = K) �	�� � h �� ��������*�� ��������� ��

��������� ��� ������� �� �������!

79��) *��$
� ���� �
���
��#��
	 ��� R
3 ��� �� ��������#�� ��� �������������


	 ���  ���� ��� �!�! h(K) = K!

+ �����	���  ��
��� ��$����� �������$ �� '(:5 �� �����
� ��� /��)�

�� '(:5 ��� �$�� n ≥ 3! 8�������) � �
��� ������
� �� ��	����� ��

�!

%���	 ����� ��� ���� n ≥ 4, ���� �!�	
	����
�� ��� �	�!�"� �	! ������


��	� Mn ������ �	� �����	 K �!�	�	��������� �����	���	%


��
���� 78��� ����
��#��
	� A � ������ ��� �#���� ��� ��	� � K

��������������$ ����������! "	�� � A ��������*�� ��� ��	� � K �� 
��

$��� ������� ��
���� H 
� 2n ����#�� �!�! �� ������������� � ����
	� ���

��$��� 0�
)
�� 
� ��	� � �! 8����� H �= K) ��$� �� �����$ ai � �����

����� ���� ���� H ) ���$ 	 � ���� K! 79��) � �����$ ai ����� 
�� ������� ����

�
#������ ��� ��$��� 0�
)
�� 
� ��	� � K ��� ���
���� � �� ����#�� i ���

i + n! 8����� � H ����� 
�� ���� ������� ��
����) �� ��$� �� ������� 
��

�����$) ���#������� ��� ai) 
� ����#� ��� i! +� 
	��� ������� ��� ���#�
����

Mn ��� ����� ��� ��� ����#� i ����� � �����$ ei−1 
� ����#�� i− 1 ��� i) ���

� ei 
� ����#�� i ��� i + 1 1& �
� 4!'0;! %!�!�! ��������
� 	�� ���� ��	� �

H ����� ���� � �����$ ei−1 ��� 	 � � ei!

7+
���) ������ � ��	� �� H ����� �� ��� ����#� i + n ��� �����$� ai) �

H �� ����� �� ������� 
�� ��	
� �����$) ���#������� ��� ai) 
� ����#� ���

i + n! 79��) � H �� ����� �� ���� ��� �����$ ei+n−1 
� ����#�� i + n − 1 ���
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& �
� 4!'0= +� ���������� ������� ��� ai

i + n) ���� ��� �����$ ei+n 
� ����#�� i + n ��� i + n + 1! 8
��$*��
� ����

���� ��� ��� ��� ����� ����������� 
� �����$!

&�$�� 
���
���� = + ��	� �� H ����� �� ��� �����$ ei+n−1!

9�	 ��� ��	����) � H ����� �� ��� ��	������ �������= ��� ei−1 
� ����#��

i − 1 ��� i) ��� �����$ ai 
� ����#�� i ��� i + n ��� ��� �����$ ei+n−1 
�

����#�� i + n − 1 ��� i + n!

& �
� 4!''= � ������� ��
���� ei−1) ai) ei+n−1 ��� ai−1

9� � H ������ � ��� ��� �����$ ai−1 ��� ���#�
���� Mn) �	�� � H ��

������ � 
�� ������� ��
���� 
� �������� ������� 1& �
� 4!'';) ��� ei−1) ai)

ei+n−1 ��� ai−1) $����) �#�� � H ����� 
�� ���� ������� ��
���� 
� 2n �������

��� n ≥ 4! 79��) � H ��� ����� �� ��� �����$ ai−1! 79��) ���� ��$�� 0�
)
��


� ��	� � H ) � �����$ ai−1 �������� ������� ��� ���#�
����! 9� � H �����

�� ��� �
�
��� ���� ����#�� 
��� ��������) �	�� �$�� �
�
� �� ����� �� n

�� ������ �������! 8���
� 	�� �� ������� ei−1) ai) ei+n−1 ��� ai−1 ���*��� 
��

���� ������� ��
����! 79��) �#�������� ��� ����#�� ��� �������� ai−1) ��

��� ��	 �� ��� �
�
��� ��� �����  ���*���� � H ) �� ����� �� 
	�� ��� �������

ei−1) ai) ei+n−1) $����) �#�� n ≥ 4! 79��) � ��	� �� H ��� 
����� �� ����� ��
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��� �����$ ei+n−1!

/�-���� 
���
���� = + ��	� �� H ����� �� ��� �����$ ei+n!

8#7 	��� � ��	� �� H ����� �� �$�� ����#� ��� ���#�
���� Mn) ��

����� �� ��� ��� ����#� i + 1! J� ������� ��
����) � H �� ����� �� ���

������� 
� ����#� ��� i + 1! >������
� 	�� � H ��� ����� �� ��� �����$ ei)

������� �� ������ �� ����� �� ��� �����$ ai+1 1& �
� 4!'/;!

& �
� 4!'/= � ��
���� ai) ei+n ��� ai+1

8����� � ��	� �� H ��� ����� �� ��� �����$ ei) � �����$ ���� �� �����


�� ������� �� ����� ��� �
#������ ��� ��$��� 0�
)
��� 7+��� ����
�)

�#�������� ��� ����#�� ��� �������� ei) � ��	� �� H ��  ������� �� ���

�
�
���) ������ ��	 �� ����� � �� n �������! "� ��� �
�
� �� ����� ��


	�� ��� ������� ai) ei+n ��� ai+1) $����) �#�� n ≥ 4! 79��) � ��	� �� H

��� ����� �� ���� ��� �����$ ei+n) ������ ��� ��$� �� � ����
��#��
	� ���

�������
�! �
"� ,�

� 4!'/ ����������� 	�� �$�� ����
��#��
	� ��� Mn ��������*��

������� ��� ��$��� 0�
)
�� �� ������� ��� ��������� �� ���������! 1<�����

��� �$�� n ≥ 4 ��$� �� ���� 
	��� ��	��� �������� ��� ��	� �� K!;

&�����	 ����� /� !������ 	
	�	
	����
�� h : (R3, Mn) → (R3, Mn) ���

n ≥ 4, ���� h(K) = K%


��
���� 6�$�
���) ���� 	�� ��$� �� ���� ������� �
���
��#��
	� h!

"	��) � h ��$��� ���� ����
��#��
	 ���� ����#�� ��� Mn ��� ��	 �� ,�
�


� 4!'/) � ����
��#��
	� ���	� �� �#���� ��� ��	� � K ��������������$
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79��) ��� �� ��������� �� �����
� ��� /��)� ���� ��� �������$) ����

��������� n ≥ 4 ���  ���$*���� � ��	����) � �
���
��#��
	� ��� *��$
� ��

�������� ��������������$ �� ��������� K ��� Mn!

2�� ���� �
���
��#��
��� ��� *������ (R3, Mn) �
�*�� �� ��
������� ��

�����$��=

78��� � �������� �
#������ 
��� ��$��� 0�
)
�� Mn! >�$� �� �	��) ��


���
��#��
	� g : (S3, Mn) → (S3, Mn) ��� �������� ��� ������������
	 ���

 ���� ��� ��������*�� �$�� ����#� i ��� K ���� ��	
��� ��� i + 1! + ��


���
��#��
	� g ��������#�� �� ��$#�
� Mn ���� ��	 ���� $
���) � ������

����� �$����� ��� ������	 ���! "���	 ����) ����#��
� ��� ��$��) ���� ����

� ����������� �� 
�� ���$
�� ����! + �
���
��#��
	� g #������� ��� & �
�

4!'4!

& �
� 4!'4= + �
���
��#��
	� g 
�������� ��� ����#�� ��� Mn

>�$� �� ��	
� ���� �
���
��#��
	� f : (S3, Mn) → (S3, Mn) ��� ��������

��� ������������
	 ���  ���� ��� ��������#�� ��� ������������
	 ��� ��	� ��

K! + �
���
��#��
	� f ��������#�� ��� ��$��0�
)
�� ���$ 180 ◦ ����  ���

1& �
� 4!'@;! 9� �� ������ ��� ��������� ����� ������	� ����
	�) �	�� ��

��$� �� 
�� ������� ��� �� ����
����� ������� 
��� ��� f !

78���) ����) 	�� ��$� �� �
���
��#��
	� h : (S3, Mn) → (S3, Mn) ��� ���

������#�� ��� ������������
	 ���  ���� ��� �!�! h(K) = K! � ��
��	
���

����
��� ��� ����#�� ��� ��	� �� K ����� ���� K ���� ������������
	!

2����*��
� 	�� � h ��������*�� ����#�� ��� K �� ����#�� ��� K) ���� ����
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& �
� 4!'@= + �
���
��#��
	� f ��������#�� ��� ������������
	 ��� K

���������� ����#�� �� ��������*����� �� ���������� ����#��! 79��) � �
���
���

#��
	� h ���� ��������#�� ��� ��	� � K ���� ��	 ���� $
��� �$���� ���

������� ��� 
�������� ���� ��� ����#�� ��� K) ���� ��������#�� ��� ��������

�����
	 ��� K! &���������� ��� h) ��  ��������) 
� ��� �
���
��#��
	 f )

��������� ���� �
���
��#��
	� ��� (S3, Mn) ��� ��������#�� ��� ��������

�����
	 ���  ���� ��� �������� ��� ������������
	 ��� K! &�� ���� ���)

����������� ��� h 
� �$���� ����
� ��� g) ��������� ���� �
���
��#��
	�

��� (S3, Mn) ��� ��������#�� ��� ������������
	 ���  ���� ��� �������� ��

������ �$�� ����#� ��� ���#�
����!

6��������
� ����  ���� ��	���
� �� �����	 �����
� ��� �
����

��$���	 ����� �(�
	�� �� �� ).��� Mn �����'	����� � 	�	�� ����� ���	��

��� �
�!��!
��� ���� S3 
� n ≥ 3 �!�#����� ��� �����	 K % ����, #�� !����

��� 	
	�	
	����
�� h : (S3, Mn) → (S3, Mn) �	! �� ����������� �	� ��	�����

�	���
� ��� �%�% h(K) = K%

� ��	���
� ��� �����
���� 4!'@ ������� 
�  ���� ����������� 
��	��

�� ��� ��������
��� ��������*�
���� ����

$��� 
� ��� #���� 1�-�����

)�����
� ���
�� ;!

8��
����) �� ��$#�
� �$�� 
����� 
� 
��#� ��$��� 0�
)
�� 
� ����� �

������	����� ��������� ����� ���������$ 
� �
#� ���� ���� S3 ��� $�� ����

R
3! 8��
����) �� 
	��� 
� 
�����	 ��$#�
� ��� ������
�$��� 
�� ��������

�
#������ 
��� ��$��� 0�
)
�� �����  �
��$ 
� �
#� ����) ��� �������) 
�*�


� ��� ���������� ���� ���	��) ��������� ���������$ ������?��
���!
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"� ��	
��� �����
�) ��� ������ � ��	���
� ������ �$���  ���� ���������

*�
���� ����

$��� 
� ��� #����) �#������� ���� &����7���

��$���	 ����� �0������ �� ��).��� n ≥ 3 ��� ����� '	����� �
�!��!
���

���� S3% ).��� h : (S3, Mn) → (S3, Mn) 	
	�	
	����
�� �	! ����������� �	�

��	�����	���
� �	! �"�	! �%�% h(K) = K, ��	! K 	 �����	� �	! Mn% ����

#�� !������ � �#��� ai �%�% h(ai) = ai%

&� �������� 
� �� �����
� 4!'@) ��� �����
� 4!'A ��� �$���
� ��
��

��	���� ��� ��� ��	�� 
� ��� ����� �� ��$#�
� Mn ����� �
#����
���! 78���)

� ��	� �� K) ����� ��� ����������� ������� 
����� �� ����� �� ��� �	
����!

��  ����
��������
� �� �����
� 4!'A ��� �� ������
��
� ��� ����������


� �
#� ����� �$�� �
#������� 
��� ��$���0�
)
�� 
� ������	 ����
	 ������

����) ���
$����� ��	 �� �� ����� �� �	
����! 6�$�
���) �� �����
� 4!'5

��������� �� �����
� 4!'@) ��� n ������	!

��$���	 ����� �0������ �� �� ).��� ����� '	����� Mn �
�!��!
��� ����

S3 ��� ���� n ≥ 3 �������� �!����� ����
��% ���� #�� !������ 	
	�	
	����
��

h : (S3, Mn) → (S3, Mn) �	! �� ����������� �	� ��	�����	���
� �	! �"�	!

�%�% h(K) = K%


��
���� 78��� 	�� ��$� �� ������� �
���
��#��
	� h! 9�	 ��� ��	����

� ��
� 	�� h(K) = K) ��	�� 
� �$�� ��� ���������� � h ���� ��������#��

���� ��������*�� ��� ����#�� ��� K!

>�������
� �� ��$ 	�� � h ��������#�� ��� ����#�� ��� K! "	�� � h

��������#�� ��� ��� ��������� ��� K ��� ��$� �� ��$ ����� ����
	� r �!�! �

hr �� ��������*�� �$�� ������� ���� ����	 ���! 8����� � h ��������#�� ���

��������� � ����
	� r �� ������ �� ������� ��� ����
	 ��� ��������� n ���

������� � hn ��������*�� ������ �$�� ������� ���� ����	 ���! 8����� � n

����� ������	�) � hn ����� �
���
��#��
	� ��� (S3, Mn) ��� ��������#�� ���



����


���� ��
����������	 �����������������
����
3@

������������
	 ��� �!�! hn(K) = K ��� hn(ai) = ai) ∀i ) $����) �	�� ���

�����
���� 4!'A!

+�	�� � h ��������*�� ��� ����#�� ��� K ��� ��$��� ���� ���� ����
���

#��
	 �$
�� ��� ���� ����#�� ��� K ��� ���� ���������! 8����� � n �����

������	�) �� ��$� �� ����$ ����� 
�� ������� aj �!�! h(aj) = aj) $���� ���

�$�� �	�� ��� �����
���� 4!'A!

8��
����) ��� ��$� �� � �
���
��#��
	� h ��� �������
�! �

9�	 �� �����
� 4!'5 ������ 	��=

�� 
���� 
� 
	����� �����
� �	! ������
����� 
�� 	�	��#��	�� �
� ��!��


��� ������ '	����� ����� ��
��� 
� �
�������, ��� �!���"�, 
�-� 
� ���

���	������ �	!� ������, ��	���	 � �	�	�	���� �����	��	
���!

���������
� ���� ���� ��	����� ����
	!

#������ ����� 78�� ����
�
��� � 
� ��$#�
� G ���
$*���� �����"� 
�

�
������	 �������������# �������) �� �$�� �
#������ ��� ����� ���������$ 
�

�
#� ����!

&�
#��� 
� ��� +���
	 4!'3) �� �����
� 4!'5 ����������� 	��=

��� n ������� ����
�, �	 �����
� Mn ����� �����"� 
� �
������	%

���������� 9� n ���� $����� #����	� ����
	�) �	�� ��$� �� �$��� 
��

�
#������ ��� ���#�
���� Mn � ����� 
����� �� ��������#�� ��� �� �����

��� ���������� ���	�� ��� Mn! 79��) �� �����
� 4!'5 ��� �� ��� ��� �������

n $����! &�� & �
� 4!'A ������
� 
�� ���������$ �
#� ���� �
#������ ���

M4! 6�$�
���) ��������#����� �� ��$#�
� ���$ 90 ◦ ���� ��	 ���� �$����

$
��� ���������
� ���� ���������� ��� ���	��! &�� ���� ���) ������������

��

�����$ *���� ��������� ��� �$�� ��� �$�� 
���� ��� ���#�
����) ��

� ��
� 
�� ���������$ �
#� ���� �
#������ ��� Mn ���� R
3) ��� �$�� n ∈ N

$����!



����


���� ��
����������	 �����������������
����
3A

& �
� 4!'A= -�� �
#� ���� �
#������ ��� ���#�
���� M4

��# �����*� �' 	�$�&����	 �� ��*�' ��	$*.

�	�	

&��� ���$���#� ���� ��  ����
��������
� �� �����
� ���-�* ��� ������

��� �� ������
��
� 	�� �$�� ������ ��$#�
� 
� 4n+3 ����#�� ����� �������


� �
#� ����! 9����������
� �� ��$ �� ��	����� �����	 ��� ��� ��	���
�

��

�!

%���	 ���	� �0����� ��� 1������ ����� ).��� 
�� �
� ��!�� �	! ������


��	� K7 ��	� R
3 ��� ���� f : (R3, K7) → (R3, K7) ���� 	
	�	
	����
��%

/� 	 f ������ ���� �!�	
	����
� ��(�� # 	 ��� �	�!�"� �	! K7, ���� 	 f

#������� ������� �����"� 
�� �	�!�� �	! �����
��	�%


��
���� 78��� C �� ������ 	��� ��� ������ ,��
���� ���� �
#������

��� K7! 2�� �$�� K ∈ C) ���� a(K) � ���������� ��� ��� K ��� a =
∑

K∈C a(K) mod 2! 8����� � f ����� ���� �
���
��#��
	� ���  ����) ���

�$�� ����� K ∈ C � ��
� 	�� �� f(K) ����� ������ ������ ��� f(K7) = K7

��� ������ � f �������� �� K7 �� ����� a[f(K)] = a(K)) ���
$����� �� � f

�������� � ��������#�� ��� ������������
	! 6�$�
���) � f ���� �� ��������*��

��� ����� K ���� ����	 ��� ���� ���� ���������� ��� ���	�� K� ��� ����

�	
��� ��� � ���������� ��� ���	�� � ��� ���� ��
� ��� ����������� ����

79��) �� �� ���=

a[f(K)] + a(K) ≡ 0 mod 2.

<�
�������
� ���� *���� ������ ��� C) �� ����� ������������ ��	 �����

���� ���� ������� 
� f(K) �= K! "� $�����
� ��� ����������� ��� �$��
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*������ ��� ������#���� ���� ��
� ��� a! +�	��=

a =
∑
K∈C

(a(K)) ≡
∑

K=f(K)

a(K) mod 2.

9�	 �� �����
� ���-�*1������ �����*��
� 	�� a = 1 ��� �$�� �
#������

��� K7) $�� ��$� �� ����$ ����� ���� ������ ,��
���� K �!�! K = f(K)!

+ �
���
��#��
	� f ���� �� ��������#�� ���� �� ��������*�� ��� ����#�� ���

K7!

8����� � f ��$��� ���� ����
��#��
	 �$
�� ���) �$�� ����#� ���� ���

��
���������� 
� 
�� $��� ����#� ���� ����
���� ������� 
��� ��� f ! 8�����

	
�� �� ����#�� ����� �������� �� ������) ����$ ����� 
�� ����#� ����
����

�������! 8�����) �� 	��� �� ����#�� ����
���� �������� �	�� � f �� �� �

�$
� ���) $����! 9��	 ��
����� 	�� � f �� ��������*�� ��� ����#�� ��� ����

���! 79��) �� ���� ��� ����#�� ��� K 
����� �� ����
����� �������� ��	 ���

f ! 8����� �� ����#�� ����� �������� �� ������) � f �������� ������� �������


�� ����#� ��� K ��� ���
���� ��� ��� ���#�
����! �

��$���	 ���
� �0����� ���1������ ����� ��� ���� n ∈ N, �	 ������ ������


� K4n+3 ����� �����"� 
� �
������	%


��
���� 78��� 	�� ��� �$���� n ��$� �� �
#������ ��� K4n+3 ��� ���

��� ���������$ �
#� ����! "	�� ��$� �� �
���
��#��
	� h : (R3, K4n+3) →
(R3, K4n+3) ��� ��������#�� ��� ������������
	 ���  ����! + �
���
���

#��
	� h ��$��� �$����� ����
��#��
	 ���� ����#�� ��� ���#�
���� ��� ���

�
���*�� ��� ����#�� �� p �� ������ ��� ���! 78��� n1, n2, . . . , np � �$
� �$��

��� �$�! �$�� ni 
����� �� ���������������� �� ni = qi · 2mi ) 	��� qi ������

�	� ����
	�) ∀i = 1, . . . , p! + �
���
��#��
	� hqi ��$��� ���� ����
��#��
	

�$
�� 2mi ���� ni ����#�� ��� i−��� �$�! 78��� q = q1 · · · qp! "� q �����

������	� ����
	�) ��	�� � g = hq : (R3, K4n+3) → (R3, K4n+3) ��������#��

��� ������������
	 ���  ���� ��� � �$
� �$�� ��� �$� ����#�� �� ����

g ����� ����
� ��� ���) ������� ��
������
����
���� ��� ��� 
�������� ���

��
� �!
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8����� �� $�����
� ��� �$
��� ��� ��� ��� ����#�� �� ���� g ������ ��

������� 
� 4n+3 ��� 	��� �� �$
��� ����� ���$
��� ��� ���) �� ������ �� ��$� ��

����$ ����� 
�� ��� �$ �$
�� ���) ��� ���� ����$ ����� 
�� ��� �$ �$
�� ���

���� ��� �������� ��� ��� �$
�� ���! &� �$�� ���������) ����$ ����� �����

����#�� �� ����
������ �������� ��	 ��� g2!

8
��$*��
� ���� �������� ����������� ��$���� 
� ��� �$
��� ��� ��� ���

����#�� �� ���� g!

&�$�� 
���
���� + g � �� ����$ ����� 
�� ��� �$ ����#�� �$
�� 
������

����� ��� ���!

<����� ��$� �� ��� �$ �$
�� 2m, m ≥ 2! "	��) �� 2m ���������� 
� ��

�������! 79�� ��$� �� ����$ ����� 
�� ��� �$ ����#��) 9) �$
�� �������

��	 ��� �
���
��#��
	 g2m−2
= g2m/4! + �
���
��#��
	� (g2m−2

)2 ��$���

���� ����
��#��
	 �$
�� ��� ���� ����#�� ��� ��� �$� 9! "� ������ ��$#�
�

K4n+3 � �� ����$ ����� ���$ ����#��! +� �������� ����#�� ��� 9 
� ���

����� ����#�� ��� ����
����� �������� ��	 ��� g2 ��� ��� ������� ��� ���

�������� ��������� 
�� �
#������ ��� ���#�
���� K7) ��� ����� �����$#�
�

��� K7! 79��) ��
���
��#��
	� (g2)2m−2
= (g2m−2

)2 ��� (R3, K7) ��$��� ����

����
��#��
	 �$
�� ��� ��� ��$#�
� K7! 79����) �	�� ��� 	�� � g2 ��������

�������� ����� ����#�� ��� K7 ��� ��� ,�

���� 4!':! 79�� ��� ��$� ��

��� �$ ����#�� �� ���� g �$
�� 
���������� ��� ���!

/�-���� 
���
���� + g � �� 
�� � ��� ��� ��� ����#�� �$
�� ���!

9#�� ��� ��$� �� ��� �$ �$
�� 
���������� ��� ���) �� ����#�� ��� ���

������� ���� ��� ��� �$
�� ��� ����
����� �������� ��	 ��� g! ! ������
�

�� �����$#�
� ��� K4n+3 ��� ����������� ��	 ��� ����#�� ��� ������� ���


�� � ���� ��� ��� ��� �$
�� ��� ��� ��	
� ����� � ����� ����#�� ��� ����
��

���� ��������) 
�*� 
� ��� ������� ��� ��� ��������! 9��	 �� �����$#�
�

����� 
�� �
#������ ��� K7 ��� � �
���
��#��
	� g ��$��� ���� ����
��#���


	 �$
�� ��� ���� ����#�� ���) $����) �	�� ��� ,�

���� 4!':) �#F����



����


���� ��
����������	 �����������������
����
3:

������������ �������� �$�� ��	 
�� ����#��! 79�� ��� ��$� ��� 
�� � ���

��� ��� ����#�� ��� g �$
�� ���!

����� 
���
���� + g � �� ����$ ����� ����� ��� ��� ����#�� �$
�� ���!

9���
��
� ��� ����#�� �� ����� ��	 ��� ��� ��� ����#�� �$
�� ��� ��

1, 2, . . . , 6 ���� ���� �� �����$�� *���$��� ����#�� �� ������� ���� ����

��� �$= < 1, 4 >, < 2, 5 >, < 3, 6 >! +� ������� 1'@;) 1/A; ��� 145; ����������

��� ����������� ��	 ��� g ��� � g ��������*�� ��� �����$ 1'/; ���� 1@A;) ���

1/4; ���� 1A5; ��� ��� 14@; ���� 15';! 78��� M �� �����$#�
� ��� K4n+3

��� ����������� ��	 ��� ����#�� ' ��� 5) ��� ������� 1'@;) 1/A;) 145; ��� ���
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